MOCK COMMON LAW ADMISSION
TEST 2025
MOCK CLAT #o09

Correct Answer: (B) He anticipated physical pain but not emotional detachment.

Reference Line: "l was having the sensation of coming out of myself... | was astonished at my
physical detachment; at the same time, | had no belief, or else complete and automatic belief, in
my own death."

Explanation:

(A) He expected to experience a sense of existential dread and fear - This option is incorrect. The
author's account does not indicate that he expected to experience existential dread and fear in the
face of a mortal wound. Instead, he describes a sensation of coming out of himself and a state of
physical detachment. The focus is more on the surprising detachment rather than a sense of dread
and fear.

(B) He anticipated physical pain but not emotional detachment - This is the correct answer. The
author mentions experiencing physical pain during thetraumatic event, indicating an anticipation
of physical suffering. However, the author expresses surprise at the emotional detachment he felt,
stating that he was astonished at his physical detachment. This suggests that the emotional
detachment was unexpected, implying that he did not anticipate it.

(C) He thought he would lose consciousness immediately - This option is incorrect. While the
author mentions losing control of his body, there is no explicit indication that he expected to lose
consciousness immediately upon receiving a mortal wound. The focus of the passage is more on
the author's observations and experiences during the event rather than expectations of losing
consciousness.



(D) He believed he would witness vivid, apparently remembered, scenes and persons - This
option is incorrect. The passage does not suggest that the author had a prior belief or expectation
of witnessing vivid scenes and persons in the face of a mortal wound. The author describes the
experience of vivid memories and scenes, but it is portrayed as a surprising phenomenon rather
than an expectedoutcome.

In summary, the author's account reveals that he anticipated physical pain but not emotional
detachment when faced with a mortal wound. The passage emphasizes the author's surprise at
the emotional detachment experienced during the event, indicating that it was not an expected
outcome.

Correct Answer: (B) He was introspective and aware of his mortality.

Reference Line: "The whole experience was curious and | wished to remember it, so | made a
conscious note to notice the process of death."

Explanation:

(A) He was preoccupied with the survival of others - This option is incorrect. The passage does
not indicate that the author was preoccupied with the survival of others during the traumatic
event. The focus of the passage is primarily on the author's personal experience and mindset
rather than concerns about others' survival.

(B) He was introspective and aware of his mortality - This is the correct answer. The passage
clearly suggests that the author was introspective and aware of his mortality during the traumatic
event. The author expresses a curiosity about the experience and consciously makes a note to
observe the process of death. This demonstrates a heightened self-awareness and a
contemplation of his own mortality.

(C) He was driven by a fear of death - This option is incorrect. The passage does not convey a
sense of fear of death in the author's mindset. Instead, the author approaches the experience with
curiosity and a desire to understand and remember it. The author's state of mind is not dominated
by fear but rather introspection.

(D) He was entirely focused on his physical pain - This option is incorrect. While the author does
mention experiencing physical pain during the traumatic event, the passage indicates that the
author's focus is broader than just the physical pain. The author's mindset is characterized by
introspection, curiosity, and a contemplation of mortality rather than being solely focused on the
physical sensations ofpain.

In summary, the conclusion that can be drawn about the author's mindset during the traumatic
event is that he was introspective and aware of his mortality. The passage highlights the author's
curiosity, desire to remember the experience, and contemplation of the process of death,
indicating a thoughtful and self-reflective mindset during the event.

Correct Answer: (C) Simile

Reference Line: "'l could hear myself wheezing and every breath was like knives going through
me."

Explanation:

(A) Hyperbole is an exaggerated claim or statement that is not meant to be taken literally. The
given sentence doesn't contain an obvious exaggeration, but rather a comparison to express the
narrator's pain.

(B) A metaphor is a figure of speech in which a word or phrase is applied to an object or action to
which it is not literally applicable. Although the statement is a comparison, it explicitly uses the
word 'like', which indicates a simile, not a metaphor.

(C) This is the correct answer. A simile is a figure of speech involving the comparison of one thing
with another thing of a different kind, used to make a description more emphatic or vivid. The
phrase 'like knives going through me' is a simile as it draws a comparison between the narrator's
pain and the sharpness of knives.



(D) Onomatopoeia is a word that phonetically imitates, resembles or suggests the sound that it
describes. The given sentence doesn't contain any examples of onomatopoeia.

Correct Answer: (B) Curious and observant

Reference Line: "The whole experience was curious and | wished to remember it, so | made a
conscious note to notice the process of death."

Explanation:

(A) Fearful and panicky - This option is incorrect. The passage does not convey a sense of fear or
panic in the narrator's state of mind. Despite being shot and experiencing pain, the narrator
remains remarkably calm and composed. The focus of the passage is on the narrator's curiosity
and observation rather than fear and panic.

(B) Curious and observant - This is the correct answer. The passage clearly highlights the
narrator's state of mind as curious and observant. The narrator expresses a strong sense of
curiosity, stating that the whole experience was "curious” and that they wished to remember it.
The narrator consciously takes note of their physical sensations and thoughts, indicating an
observant mindset. This curiosity and attentiveness to detail are evident throughout the passage.
(C) Regretful and sorrowful - This option is incorrect. The passage does not convey any sense of
regret or sorrow in the narrator's state of mind. There is no indication of the narrator feeling
remorseful or sorrowful about the situation. The focus is primarily on the narrator's analytical
approach and desire to remember the experience rather than any emotional regret or sorrow.
(D) Angry and resentful - This option is incorrect. The passage does not suggest any anger or
resentment in the narrator's state of mind. There is no indication of the narrator feeling anger or
resentment towards the person who shot them or towards their situation. Instead, the narrator
maintains a curious and observant mindset, focusing on understanding and remembering the
experience.

In summary, the narrator's state of mind during the experience is best described as curious and
observant. The passage emphasizes the narrator's curiosity about the process of being shot and
their conscious effort to observe and remember the details of the experience. Fear, regret, anger,
and resentment are not prominent emotions expressed in the passage.

Correct Answer: (C) explicate the physiological and psychological effects of gunshot injuries
based on personal experience.

Reference Line: "The whole experience of being hit by a bullet is very interesting and | think it is
worth describing indetail."

Explanation:

(A) Advocate for stricter gun control laws, using personal experience as a persuasive device - This
option is incorrect. While the passage describes a personal experience with a gunshot wound, it
does not explicitly advocate for stricter gun control laws. The focus of the passage is primarily on
the physiological and psychological effects of the gunshot wound rather than promoting a specific
political agenda.

(B) Evaluate the differences in perception and reality when experiencing a traumatic event like a
gunshot wound - This option is not the primary purpose of the passage. While there is a brief
mention of the initial perception versus the actual reality of the gunshot wound, the main focus is
not on analyzing these differences. Instead, the passage delves into a detailed description of the
physiological and psychological effects of the gunshot injury.

(C) Explicate the physiological and psychological effects of gunshot injuries based on personal
experience - This is the correct answer. The passage explicitly states that the primary purpose is
to describe the whole experience of being hit by a bullet in detail. It goes on to vividly explain the
physical sensations, such as the burning pain in the chest, as well as the psychological effects of
the gunshot wound. The focus is on providing insight into the physiological and psychological
impacts of such injuries.



(D) Warn readers of the severe repercussions of violence and warfare, drawing upon a first-hand
encounter - This option is not strongly supported by the passage. While the passage does recount
a first-hand encounter with a gunshot wound, it does not explicitly aim to warn readers about the
repercussions of violence and warfare. The primary focus is on the personal experience of being
shot and the effects of the injury, rather than serving as a broader warning against violence.

In summary, the primary purpose of the passage is to explicate the physiological and
psychological effects of gunshot injuries based on the author's personal experience. It provides a
detailed account of the experience, focusing on the physical and mental aspects of being shot.

Correct Answer: (A) The protagonist, Saleem Sinai, was born at a historically significant time.
Reference Lines: "At the stroke of midnight on August 15th, 1947, as India gained its long-awaited
independence from British rule, a child was born in the city of Bombay. This child, Saleem Sinai,
would forever be entwined with the destiny of his country.”

Explanation:

A) The protagonist, Saleem Sinai, was born at a historically significant time.

Reference Lines: "At the stroke of midnight on August 15th, 1947, as India gained its long-awaited
independence from British rule, a child was born in the city of Bombay. This child, Saleem Sinai,
would forever be entwined with the destiny of his country."

Explanation: This statement can be inferred from the passage because it explicitly states that
Saleem Sinai was born at the exact moment when India gained independence from British rule.
The mention of the date and the significance of India's independence establish the connection
between Saleem's birth and the historical events unfolding in the country. The phrase "forever be
entwined with the destiny of his country" further emphasizes the importance of Saleem's birth
and its alignment with India’s history.

(B) The events of Saleem Sinai's life have no connection to the history of India.

Explanation: This statement is contradicted by the passage. The passage explicitly states that
Saleem Sinai's life is intertwined with the destiny of his country. The mention of Saleem's birth at
the moment of India's independence suggests that his life and the historical events of India are
deeply connected. The author presents Saleem's story as a reflection of the broader history of the
nation, indicating a strong connection between his life and the history of India.

(C) The Midnight's Children do not possess any extraordinary abilities.

Explanation: This statement is contradicted by the passage. The passage mentions that Saleem
Sinai and the other Midnight's Children possess extraordinary abilities. These abilities are not
further specified in the passage, but the mention of their special powers indicates that they have
extraordinary qualities or talents. This suggests that the Midnight's Children are unique and
distinct from ordinaryindividuals.

(D) "Midnight's Children" does not explore themes of identity, nationhood, and storytelling.
Explanation: This statement is incorrect. The passage explicitly states that"Midnight's Children”
explores themes of identity, nationhood, and the power of storytelling. The author describes
Rushdie's work as weaving a tapestry of India's past, present, and future, indicating a deep
exploration of identity and nationhood. The mention of the power of storytelling suggests that
these themes are central to the narrative, further refuting the statement.

Correct Answer: (B) Rushdie's use of magical realism and rich language to create a tapestry of
India’s history.

Reference Lines: "Rushdie's prose dances between the magical and the real, seamlessly blending
history and mythology. He weaves a tapestry of India's past, present, and future, exploring themes
of identity, nationhood, and the power of storytelling."”

Explanation:

(A) The exact moment of Saleem's birth has no relevance to the story.



Explanation: This option is contradicted by the passage. The passage emphasizes the significance
of the exact moment of Saleem’s birth by connecting it to India's independence from British rule.
The mention of Saleem's birth at the stroke of midnight on August 15th, 1947, suggests that the
timing holds great relevance to the story. It establishes a profound connection between Saleem's
life and the historical events unfolding in India.

(B) Author's use of magical realism and rich language to create a tapestry of India's history.
Explanation: This option is supported by the passage. The passage highlights Rushdie's use of
magical realism and rich language to create a tapestry of India's history. It describes Rushdie's
prose as dancing between the magical and the real, blending history and mythology. The mention

of weaving a tapestry of India's past, present, and future further emphasizes the author's concern
with using language and storytelling techniques to portray the rich history of India.

(C) The telepathic network of Midnight's Children has little importance in the narrative.
Explanation: This option is contradicted by the passage. The passage states that the telepathic
network plays a significant role in the story. While the passage does not provide extensive details
about the importance of the telepathic network, it acknowledges its presence and suggests its
significance in connecting the Midnight's Children. Therefore, it refutes the notion that the
network has little importance in the narrative.

(D) "Midnight's Children™ is not considered a masterpiece of contemporary literature.
Explanation: This statement is refuted by the passage. The passage explicitly describes
"Midnight's Children" as a masterpiece of contemporary literature. It praises Rushdie's ability to
blend history and mythology, explore themes of identity and nationhood, and weave a tapestry of
India's past, present, and future. The passage's positive portrayal of the book's literary qualities
indicates that it is considered a significant work in contemporary literature.

Correct Answer: (B) The author finds the powers intriguing and central to the plot.

Reference Lines: "Saleem Sinai, the protagonist and narrator of his own remarkable story,
possessed a unique gift. He was one of the 1,001 children born across India at the exact moment
of independence, each endowed with extraordinary powers."

Explanation:

(A) The author dismisses his powers as unrealistic.

Explanation: This option is incorrect because the passage does not indicate that the author
dismisses Saleem Sinai's powers as unrealistic. In fact, the passage describes Saleem's powers as
unique and extraordinary, suggesting that the author acknowledges their existence and
significance within thestory.

(B) The author finds the powers intriguing and central to the plot.

Explanation: This is the correct answer. The passage portrays the author's response to Saleem
Sinai's telepathic powers as one of intrigue and importance. The passage specifically mentions
that Saleem possesses a unique gift and that he is one of the 1,001 children born with
extraordinary powers at the moment of India's independence. By describing Saleem's powers as
intriguing and by connecting them to the plot, the author emphasizes their central role in the
narrative.

(C) The author is neutral about his powers and their significance.

Explanation: This option is incorrect. The passage does not present the author's response as
neutral. Instead, the author highlights the uniqueness and importance of Saleem's powers,
indicating a positive interest in their existence and their impact on the story.

(D) The author considers his powers and finds them overemphasized.
Explanation: This option is incorrect because the passage does not suggest that the author
considers Saleem's powers to be overemphasized. While the passage does not delve into the
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extent of the emphasis placed on his powers, it does indicate their significance and integral role
in the plot.

Correct Answer: (B) independence, dependence

Explanation:

A) remarkable, extraordinary

Explanation: This pair of words is synonymous. Both"remarkable" and "extraordinary" convey a
similar meaning of something exceptional, unusual, or worthy of attention.

(B) independence, dependence

Explanation: This pair of words is not synonymous but antonyms. "Independence" and
"dependence" have opposite meanings. Independence refers to self-sufficiency, autonomy, or
freedom from external control, while dependence implies reliance or the need for support from
others.

(C) powers, abilities

Explanation: This pair of words is synonymous. Both "powers" and "abilities" refer to the capacity
or capability to do something, showcasing a similar meaning.

(D) magic, sorcery

Explanation: This pair of words is synonymous. "Magic" and "sorcery" both refer to supernatural
or mystical powers or practices, indicating a similar meaning.

Correct Answer: (B) The history of a nation can be deeply intertwined with an individual's life
Reference Lines: "Saleem was burdened with the weight of his nation's history, as the events of
his life intertwined with the tumultuous journey of post-independence India."”

Explanation:

(A) Extraordinary powers only come with a heavy burden.

Explanation: This statement cannot be considered true based solely on the information provided
in the passage. While it is mentioned that Saleem Sinai is burdened with the weight of his nation's
history, it does not necessarily imply that this burden applies to all individuals with extraordinary
powers. The passage focuses on Saleem's specific circumstances and his connection to India's
history, but it does not make a general statement about all individuals with extraordinary powers.
(B) The history of a nation can be deeply intertwined with an individual's life.

Explanation: This is the correct answer. The passage strongly supports the idea that the history
of a nation can be deeply intertwined with an individual's life. It mentions that Saleem Sinai's life
is burdened with the weight of his nation's history, and it highlights how the events of his life are
intricately connected to the tumultuous journey of post-independence India. This suggests a
strong link between individual experiences and the broader historical context of a nation.

(C) Telepathic powers are not extraordinary.

Explanation: This statement is contradicted by thepassage. The passage clearly statesthat Saleem
Sinai possesses extraordinary powers. The mention of Saleem as one of the 1,001 children born
with extraordinary powers at the moment of India's independence establishes the exceptional
nature of his telepathic abilities. Therefore, telepathic powers are depicted as extraordinary in
the context of the story.

(D) Saleem Sinai's life does not mirror the journey of post-independence India.
Explanation: This statement is false. Thepassage explicitlystates thattheevents of Saleem Sinai's
life intertwine with the tumultuous journey of post-independence India. It emphasizes the
connection between Saleem's experiences and the broader historical narrative of the country. The
mention of Saleem's burden with the weight of his nation's history further reinforces the
mirroring of Saleem's life and India's journey after independence.

Reference: "No one who lives in a liberal order, Deneen suggested, is immune from an organized
pressure to uproot, to compete, to experience time as a “pastless present” and to experience places
as “fungible.” Liberalism thus becomes an “anticulture,” detaching people from histories and
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loyalties, militating against everything small or local; a liberal order keeps the peace but does not
offer genuinely humane lives and communities."

Correct Answer: (B) Liberalism creates a culture of competition and detachment, leading to a
"pastless present"” and "fungible"” places.

Explanation:

(A) Liberalism fosters a sense of community and encourages intellectual diversity.

This option is incorrect according to Deneen's perspective in "Why Liberalism Failed." Deneen
argues that liberalism actually fosters detachment rather than a sense of community. He criticizes
liberalism for promoting individualism and prioritizing personal autonomy over communal ties.
According to Deneen, liberalism encourages a focus on individual rights and freedoms, leading to
a weakening of communal bonds and a lack of genuine human connection.

(B) Liberalism creates a culture of competition and detachment, leading to a "pastless present"
and "fungible" places.

This option is correct according to Deneen's perspective. He criticizes liberalism for creating a
culture of competition and detachment. Deneen argues that liberalism promotes a hyper-
individualistic society where individuals are constantly competing with one another. This culture
of competition leads to a detachment from history and tradition, resulting in what he refers to as
a "pastless present.” Additionally, Deneen suggests that liberalism treats places as
interchangeable or "fungible,” meaning that they lose their unique qualities and become
homogenized.

(C) Liberalism promotes a sense of historical continuity and loyalty to local traditions.

This option is incorrect according to Deneen's perspective. He criticizes liberalism for detaching
people from historical continuity and local traditions. Deneen argues that liberalism tends to
prioritize personal autonomy and individual rights over the preservation of cultural traditions
and historical connections. As a result, he sees liberalism as undermining loyalty to local
traditions and eroding a sense of historical continuity.

(D) Liberalism encourages a balance between individual rights and societal obligations.

This option is incorrect according to Deneen's perspective. Deneen argues that liberalism
emphasizes individual rights and freedoms without giving due consideration to societal
obligations. He suggests that liberalism prioritizes personal autonomy and self-interest, often
neglecting the broader social and communal responsibilities that individuals have towards one
another. According to Deneen, this imbalance between individual rights and societal obligations
is a fundamental flaw of liberalism.

Reference: "Deneen now proposes that the liberal order produces its own gravediggers: the
resentment of meritocracy’s losers for its winners grows as the liberal order matures. Since there
exists a growing class of people disgruntled with liberalism, Deneen declares, intellectuals like
himself who seek “Aristotelian ends” can—indeed, must—depend on “Machiavellian means,” the
“raw assertion of political power by a new generation of political actors” to displace the old ruling
elite and implement a program of its own —provided, of course, that the revolutionary class is led
by a political elite equipped with postliberal ideas."

Correct Answer: (C) The assertion of political power by a new generation of political actors to

displace the old ruling elite.

Explanation:

(A) A slow cultural reconstruction through the creation of countercultural communities.

This option is incorrect according to Deneen's revised perspective in "Regime Change." While
Deneen initially suggested the idea of slow cultural reconstruction in his earlier work "Why
Liberalism Failed," he abandons this approach in his later work. In "Regime Change," Deneen
proposes a more radical response to the failures of liberalism, focusing on the assertion of political
power rather than countercultural communities.

(B) An embrace of meritocracy as a means of ensuring political peace.
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This option is incorrect according to Deneen's revised perspective. He criticizes the reliance on
meritocracy within the liberal order. Deneen argues that meritocracy exacerbates inequalities
and creates resentment among those who perceive themselves as losers within the system. He
does not view meritocracy as a solution to the perceived failures of liberalism.

(C) The assertion of political power by a new generation of political actors to displace the old
ruling elite.

Thisoption is correct accordingto Deneen'srevised perspective in"Regime Change." He proposes
that the perceived failures of liberalism can be addressed by the assertion of political power by a
new generation of political actors. Deneen argues that there is a growing class of people
disgruntled with liberalism, and he believes that intellectuals who seek different ends should rely

on "Machiavellian means," which involves the raw assertion of political power. The aim is to
displace the old ruling elite and implement a program that challenges and moves beyond the
liberal order.

(D) A return to traditional political doctrines that emphasize innate obligations over innate rights.
This option is incorrect according to Deneen's revised perspective. He does not propose a return
to traditional political doctrines as a solution to the perceived failures of liberalism. Instead,
Deneen calls for a new approach that goes beyond the existing liberal order. He seeks to challenge
and reshape the political landscape rather than simply reverting to traditional doctrines.

Reference: "Liberalism became entwined with state power—and so, Deneen concluded, a
postliberal politics should be different, fostering local variety and intellectual humility, “the
patient encouragement of new forms of community that can serve as havens in our
depersonalized political and economic order.” Liberalism’s critics need not a theory of revolution
but “better practices” giving rise to “countercultural communities” that serve as “lighthouses and
field hospitals” from which ““a better theory of politics and society might ultimately emerge.”

Correct Answer: (B) He proposes the creation of "countercultural communities" that serve as
"lighthouses and field hospitals” from which a better theory of politics and society might emerge.
Explanation:

(A) He suggests a return to traditional political doctrines that emphasize innate obligations over
innate rights.

This option is incorrect according to Deneen's proposed solution in "Why Liberalism Failed."
Deneen does not advocate for a return to traditional political doctrines as a solution to the
perceived failures of liberalism. Instead, he argues for a post-liberal alternative that challenges
the foundations of liberalism itself.

(B) He proposes the creation of "countercultural communities™ that serve as "lighthouses and
field hospitals" from which a better theory of politics and society might emerge.

This option is correct according to Deneen's proposed solution in "Why Liberalism Failed." He
suggests the creation of "countercultural communities” that can serve as havens within the
depersonalized political and economic order of liberalism. These communities are envisioned as
places of local variety, intellectual humility, and alternative practices that offer an alternative to
the dominant liberal order. From these countercultural communities, Deneen believes a better
theory of politics and society might ultimately emerge.

(C) He advocates for an embrace of meritocracy as a means of ensuring political peace.

This option is incorrect according to Deneen's perspective. He criticizes the liberal order's
reliance on meritocracy and does not propose it as a solution to the perceived failures of
liberalism. Deneen argues that meritocracy exacerbates inequalities and breeds resentment
among those who perceive themselves as losers within the system.

(D) He recommends the assertion of political power by a new generation of political actors to
displace the old ruling elite.
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This option is incorrect as Deneen's recommendation of the assertion of political power by a new
generation of political actors to displace the old ruling elite is presented in his later work "Regime
Change," not in "Why Liberalism Failed." In "Why Liberalism Failed," his proposed solution
revolves around the creation of countercultural communities rather than a direct assertion of
political power.

Reference: "In his new telling, liberalism has been all along a technique for suppressing the
perennial tension between“thefew” and “the many.” It promises thatmaterial progress, achieved
through “an ever-freer and more expansive market,” will ensure “political peace” between a new
meritocratic ruling class (those Locke called the “rational and industrious’) and everyone else."
Correct Answer: (B) As a technique for suppressing the perennial tension between "the few" and
"the many."

Explanation:

(A) As a political doctrine that emphasizes individual rights without considering societal
obligations.

Thisoption is incorrect according to Deneen'srevisedperspective in"Regime Change." Whilethis
characterization aligns with Deneen's critique of liberalism in his earlier work "Why Liberalism
Failed," it is not specifically mentioned or emphasized in his revised perspective in "Regime
Change." In "Regime Change," Deneen focuses more on the tension between "the few" and "the
many" rather than the imbalance between individual rights and societal obligations.

(B) As a technique for suppressing the perennial tension between "the few" and "the many."
This option is correct according to Deneen's revised perspective in "Regime Change." He
characterizes liberalism as a technique or tool used to suppress the perennial tension between
"the few" (the ruling elite) and "the many" (the broader population). Deneen suggests that
liberalism promises political peace by promoting material progress through an ever-expanding
market, thus creating a sense of harmony between the meritocratic ruling class and the rest of the
population.

(C) As a force that fosters a sense of community and encourages intellectual diversity.

This option is incorrect according to Deneen's revised perspective. He does not characterize
liberalism as fostering a sense of community or encouraging intellectual diversity. Rather, he
criticizes liberalism for fostering detachment, competition, and a focus on individualism, which
he argues undermines communal bonds and intellectual diversity.

(D) As a system that promotes a sense of historical continuity and loyalty to local traditions.
This option is incorrect according to Deneen's revised perspective. He does not characterize
liberalism as promoting a sense of historical continuity or loyalty to local traditions. In fact,
Deneen argues that liberalism tends to detach individuals from historical roots and weaken the
ties to local traditions. He sees liberalism as prioritizing personal autonomy and individual rights
over the preservation of cultural and historical connections.

Reference: "Since there exists a growing class of people disgruntled with liberalism, Deneen
declares, intellectuals like himself who seek “Aristotelian ends” can—indeed, must—depend on
“Machiavellian means,” the “raw assertion of political power by a new generation of political
actors” to displace the old ruling elite and implement a program of its own —provided, of course,
that the revolutionary class is led by a political elite equipped with post liberal ideas."

Correct Answer: (C) Through the assertion of political power by a new generation of political
actors to displace the old ruling elite.

Explanation:

(A) Through the creation of "countercultural communities" that serve as "lighthouses and field
hospitals."

This option is incorrect as the creation of "countercultural communities™ is Deneen's proposed
solution in his earlier work "Why Liberalism Failed," not in his revised perspective in "Regime
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Change." In "Regime Change," Deneen shifts his focus to the assertion of political power as a
means to achieve his desired ends.

(B) Through a return to traditional political doctrines that emphasize innate obligations over
innate rights.

This option is incorrect as Deneen does not propose a return to traditional political doctrines in
his revised perspective in "Regime Change." Instead, he advocates for a departure from the
existing liberal order and the development of a new political program that challenges and goes
beyond traditional doctrines.

(C) Through the assertion of political power by a new generation of political actors to displace the
old ruling elite.

Thisoption is correct accordingto Deneen'srevised perspective in"Regime Change." He proposes
that intellectuals who seek "Aristotelian ends" should depend on the "raw assertion of political
power by a new generation of political actors." Deneen argues that there exists a growing class of
people disgruntled with liberalism, and it is through the exercise of political power that this class
can displace the old ruling elite and implement their own program. By doing so, they aim to
achieve the desired ends that align with Aristotelian principles.

(D) Through an embrace of meritocracy as a means of ensuring political peace.

This option is incorrect as Deneen criticizes theliberal order's reliance on meritocracy in "Regime
Change." He argues that meritocracy exacerbates inequalities and fosters resentment among
those who perceive themselves as losers within the system. Deneen does not view meritocracy as
a means to achieve his desired "Aristotelian ends."

Reference: "The debate is just as current today, and many people are panicking as the moderate
part of the citizens is squeezed between rhetorical extremes. First there was the financial crisis of
2007-8; now there is the linguistic crisis. Society has arrived at Hibben’s panic. Financial panics
destroy value and values; so do linguistic panics. When people use the key terms, they literally
don’t know what they are talking about."

Correct Answer: (B) The author suggests that the misuse and misunderstanding of key terms in
global discourse is leading to a "linguistic crisis™ akin to a financial panic.

Explanation:

(A) The author believes that the current discourse is characterized by a clear and shared
understanding of key terms, leading to productive debates.

This option is incorrect according to the author's perspective in the passage. The author does not
suggest that the current discourse is characterized by a clear and shared understanding of key
terms. On the contrary, the author argues that there is a misuse and misunderstanding of key
terms, which leads to a "linguistic crisis."

(B) The author suggests that the misuse and misunderstanding of key terms in global discourse
is leading to a "linguistic crisis" akin to a financial panic.

This option is correct according to the author's perspective in the passage. The author argues that
the current state of global discourse is characterized by a misuse and misunderstanding of key
terms. This situation is compared to a financial panic, where people are using key terms without
truly understanding their meaning. The author suggests that this linguistic crisis is detrimental to
both value and values in society.

(C) The author posits that the current discourse is dominated by a single perspective, leading to
a lack of diversity in ideas.

This option is incorrect according to the author's perspective in the passage. The author does not
posit that the current discourse is dominated by a single perspective. Instead, the author focuses
on the misuse and misunderstanding of key terms, which leads to a "linguistic crisis."

(D) The author argues that the current discourse is characterized by a healthy marketplace of
ideas, where all perspectives are equally valued and understood.
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This option is incorrect according to the author's perspective in the passage. The author criticizes
the current state of discourse, suggesting that there is a misuse and misunderstanding of key
terms. This situation does not reflect a healthy marketplace of ideas where all perspectives are
equally valued andunderstood.

Reference: "The best understanding of a liberal open society relies on the concept of a
marketplace of ideas. According to that vision, everyone should be free to develop, express,
examine, revise, contradict, refute, and confound ideas. Debate becomes a testing ground, in
which approval raises the price or value of ideas, and makes them more attractive and compelling,
while confusion or contradiction lowers the acceptance."

Correct Answer: (B) The author supports the concept, suggesting that it allows for the
development, expression, and examination of diverse ideas.

Explanation:

(A) The author criticizes the concept, arguing that it leads to a misuse and misunderstanding of
key terms.

This option is incorrect according to the author's perspective in the passage. The author does not
criticize the concept of a marketplace of ideas. On the contrary, the author supports the concept
and emphasizes the importance of freedom to develop, express, examine, revise, contradict,
refute, and confound ideas.

(B) The author supports the concept, suggesting that it allows for the development, expression,
and examination of diverse ideas.

This option is correct as per the author's perspective in the passage. The author supports the
concept of a marketplace of ideas in a liberal open society. According to the author, this concept
allows individuals to freely develop, express, examine, revise, contradict, refute, and confound
ideas. The author sees debate as a testing ground where ideas are evaluated and their value is
determined. The concept of a marketplace of ideas encourages the exploration and exchange of
diverse perspectives.

(C) The author is neutral on the concept, neither criticizing nor supporting it.

This option is incorrect as the author explicitly supports the concept of a marketplace of ideas.
The author sees it as an integral part of a liberal open society and emphasizes its benefits in
fostering the development, expression, and examination of ideas.

(D) The author argues that the concept is outdated and irrelevant in the current global discourse.
This option is incorrect as the author does not argue that the concept of a marketplace of ideas is
outdated or irrelevant. Instead, the author supports the concept and highlights its importance in
the context of a liberal open society.

Reference: "The debate is just as current today, and many people are panicking as the moderate
part of the citizens is squeezed between rhetorical extremes. First there was the financial crisis of
2007-8; now there is the linguistic crisis. Society has arrived at Hibben’s panic. Financial panics
destroy value and values; so do linguistic panics. When people use the key terms, they literally
don’t know what they are talking about."”

Correct Answer: (A) The author suggests that the misuse and misunderstanding of key terms in
global discourse is leading to a "linguistic crisis™ akin to a financial panic.

Explanation:

(A) The author suggests that the misuse and misunderstanding of key terms in global discourse
is leading to a "linguistic crisis™ akin to a financial panic.

This option is correct according to the author's perspective in the passage. The author argues that
the current state of global discourse is characterized by a misuse and misunderstanding of key
terms. This situation is compared to a financial panic, where people are using key terms without
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truly understanding their meaning. The author suggests that this linguistic crisis is detrimental to
both value and values in society.

(B) The author believes that the current discourse is characterized by a clear and shared
understanding of key terms, leading to productive debates.

This option is incorrect according to the author's perspective in the passage. The author does not
suggest that the current discourse is characterized by a clear and shared understanding of key
terms. On the contrary, the author argues that there is a misuse and misunderstanding of key
terms, which leads to a "linguistic crisis."

(C) The author posits that the current discourse is dominated by a single perspective, leading to
a lack of diversity in ideas.

This option is incorrect according to the author's perspective in the passage. The author does not
posit that the current discourse is dominated by a single perspective. Instead, the author focuses
on the misuse and misunderstanding of key terms, which leads to a "linguistic crisis."

(D) The author argues that the current discourse is characterized by a healthy marketplace of
ideas, where all perspectives are equally valued and understood.

This option is incorrect according to the author's perspective in the passage. The author criticizes
the current state of discourse, suggesting that there is a misuse and misunderstanding of key
terms. This situation does not reflect a healthy marketplace of ideas where all perspectives are
equally valued andunderstood.

Reference: "The best understanding of a liberal open society relies on the concept of a
marketplace of ideas. According to that vision, everyone should be free to develop, express,
examine, revise, contradict, refute, and confound ideas. Debate becomes a testing ground, in
which approval raises the price or value of ideas, and makes them more attractive and compelling,
while confusion or contradiction lowers the acceptance.”

Correct Answer: (D) The author supports the concept, suggesting that it allows for the
development, expression, and examination of diverse ideas.

Explanation:

(A) The author criticizes the concept, arguing that it leads to a misuse and misunderstanding of
key terms.

This option is incorrect according to the author's perspective in the passage. The author does not
criticize the concept of a marketplace of ideas. On the contrary, the author supports the concept
and emphasizes the importance of freedom to develop, express, examine, revise, contradict,
refute, and confound ideas.

(B) The author argues that the concept is outdated and irrelevant in the current global discourse.
This option is incorrect as the author does not argue that the concept of a marketplace of ideas is
outdated or irrelevant. Instead, the author supports the concept and highlights its importance in
the context of a liberal open society.

(C) The author is neutral on the concept, neither criticizing nor supporting it.

This option is incorrect as the author explicitly supports the concept of a marketplace of ideas.
The author sees it as an integral part of a liberal open society and emphasizes its benefits in
fostering the development, expression, and examination of ideas.

(D) The author supports the concept, suggesting that it allows for the development, expression,
and examination of diverse ideas.

This option is correct according to the author's perspective in the passage. The author supports
the concept of a marketplace of ideas in a liberal open society. According to the author, this
concept allows individuals to freely develop, express, examine, revise, contradict, refute, and
confound ideas. The author sees debate as a testing ground where ideas are evaluated and their
value is determined. The concept of a marketplace of ideas encourages the exploration and
exchange of diverse perspectives.
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Reference: "Adding to the intensity of the argument, a globally contagious virus in 2020 became
the face of globalization. The coronavirus pandemic accelerated many developments that were
already well advanced: on a broad scale, it pushed the application of technology into new, and
often more personal, areas of daily life, even as it intensified a (provisional) backlash against
globalization. It created more suspicion, produced economic and social strains, but also new and
peculiar psychic burdens."

Correct Answer: (B) The author suggests that the pandemic has accelerated developments that
were already well advanced, pushing the application of technologyinto new areas of daily life and
intensifying a backlash against globalization.

Explanation:

(A) The author believes that the pandemic has had no significant impact on global discourse and
societal structures.

This option is incorrect according to the author's perspective in the passage. The author clearly
states that the pandemic has accelerated many developments and intensified certain trends. The
impact of the pandemic on global discourse and societal structures is described as significant.
(B) The author suggests that the pandemic has accelerated developments that were already well
advanced, pushing the application of technology into new areas of daily life and intensifying a
backlash against globalization.

This option is correct according to the author's perspective in the passage. The author suggests
that the pandemic has had a significant impact on global discourse and societal structures. The
pandemic has accelerated developments that were already underway, particularly in terms of the
application of technology in daily life. The pandemic has pushed technology into new areas,
transforming the way people live and interact. Additionally, the pandemic has intensified a
backlash againstglobalization, withcertain aspects of globalinterconnectedness facingincreased
scrutiny.

(C) The author posits that the pandemic has led to a decrease in the application of technology in
daily life and a strengthening of globalization.

This option is incorrect according to the author's perspective in the passage. The author does not
posit that the pandemic has led to a decrease in the application of technology or a strengthening
of globalization. Instead, the author suggests that the pandemic has accelerated the application of
technology and intensified a backlash against globalization.

(D) The author argues that the pandemic has led to a decrease in suspicion, economic and social
strains, and psychic burdens.

This option is incorrect according to the author's perspective in the passage. The author argues
that the pandemic has led to an increase in suspicion, economic and social strains, and psychic
burdens. The pandemic is portrayed as intensifying various challenges and burdens experienced
by individuals and society at large.

Reference: "l stood there, gesturing helplessly, as pedestrians passed me by. | should have been
aggressive about it and asked for help, but I was a novice and thought my plight would be noticed
and that assistance was imminent. It wasn’t, and I stood there for several minutes until I was able
to determine it was safe to cross."”

Correct Answer: (B) Society largely ignored his struggles, leaving him to navigate his newreality
independently.

Explanation:

(A) Society immediately recognized his plight and offered assistance.

This option is incorrect according to the author's experience. The passage states that pedestrians
passed the author by without offering assistance, suggesting that society did not immediately
recognize his plight or offer help.

(B) Society largely ignored his struggles, leaving him to navigate his new reality independently.
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This option is correct according to the author's experience. The passage describes how
pedestrians passed the author by without providing assistance, indicating that society largely
ignored his struggles and left him to navigate his new reality independently.

(C) Society was overly sympathetic, leading to a loss of personal autonomy.

This option is incorrect according to the author's experience. The passage does not mention any
excessive sympathy from society that would result in a loss of personal autonomy.

(D) Society provided him with the necessary tools and resources to adapt to his new condition.
This option is incorrect according to the author's experience. The passage does not mention
society providing the author with any specific tools or resources to adapt to his new condition.
The author is left to navigate his situation without external support.

Reference: "When the trainer from the Lighthouse Guild for the Blind brought me my cane and
instructed me in its use, | embraced it as an homage to one of the great scenes in American
cinema.”

Correct Answer: (B) He embraced it, associating it with a humorous scene from a classic American
comedy.

Explanation:

(A) He rejected it, preferring to navigate independently.

This option is incorrect according to the author's account. The passage states that the author
embraced the cane, indicating that he did not reject it but rather accepted its use.

(B) He embraced it, associating it with a humorous scene from a classic American comedy.
This option is correct as per the author's account. The passage states that the author embraced
the cane when it was brought to him by the trainer from the Lighthouse Guild for the Blind. The
author associates the cane with a humorous scene from a classic American comedy, suggesting a
positive and lighthearted reaction.

(C) He was indifferent, seeing it as just another tool.

This option is incorrect according to the author's account. The author does not express
indifference towards the cane. Instead, he associates it with a humorous scene and embraces it.
(D) He was embarrassed, fearing the societal stigma associated with blindness.

This option is incorrect according to the author's account. The passage does not mention any
feelings of embarrassment or fear of societal stigma. The author's reaction is depicted as
embracing the cane in a positive and humorous light.

Correct Answer: (C) It has resulted in partial vision loss, altering his daily life and interactions
with the world.

Reference Lines: "In simple terms, my left eye had had a stroke as a result of the ceasing of blood
flow to the optic nerve due to a drop in blood pressure in the eye. The top half of my left eye is
totally blank... in October 2021, 40 percent of the vision in my right eye was obliterated."
Explanation:

(A) It has significantly enhanced his appreciation for the nuances of visual perception.

This option is incorrect according to the passage. The author does not mention an enhanced
appreciation for the nuances of visual perception as a result of NAION. Instead, the author
discusses the significant vision loss and challenges he faces due to the condition.

(B) It has led to a complete loss of vision, rendering him totally blind.

This option is incorrect according to the passage. The author has not experienced a complete loss
of vision. While he has suffered vision loss in his left eye, with the top half being blank, and a
significant loss in his right eye, he still retains some level of vision.

(C) It has resulted in partial vision loss, altering his daily life and interactions with the world.
This option is correct according to the passage. The author describes experiencing partial vision
loss due to NAION. His left eye has a blank top half, and a significant portion of vision in his right
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eye has been obliterated. This loss of vision has had a significant impact on his daily life and how
he interacts with the world.

(D) It has had no significant effect on his daily life.

This option is incorrect according to the passage. The author explicitly discusses the impact of
visionlossonhisdailylife,mentioningchallengessuch asreading,perceivingtrafficlights,judging
heights, and navigating crowded places. The vision loss has had a significant effect on his daily
life.

Correct Answer: (C) He embraces it as a humorous homage to a scene from an American comedy.
Reference Lines: "When the trainer from the Lighthouse Guild for the Blind brought me my cane
and instructed me in its use, | embraced it as an homage to one of the great scenes in American
cinema.”

Explanation:

(A) He views it as a symbol of defeat and loss of independence.

This option is incorrect according to the passage. The author does not express any negative
sentiments or perceive the white cane as a symbol of defeat or loss of independence. Instead, he
embraces it with a sense of humor and as an homage to a scene from an American comedy.

(B) He sees it as a tool for gaining sympathy and assistance from others.

This option is incorrect according to thepassage. Whiletheauthor mentions hisinitial expectation
that his plight would be noticed and assistance would be offered, he does not view the white cane
primarily as a tool for gaining sympathy or assistance from others.

(C) He embraces it as a humorous homage to a scene from an American comedy.

This option is correct according to the passage. The author embraces the use of the white cane
and associates it with a humorous scene from an American comedy, specifically "It's a Gift" by
W.C. Fields. He sees it as a light-hearted homage and embraces it with a sense of humor.

(D) He rejects it, preferring to navigate the world without any aids.

This option is incorrect according to the passage. The author does not reject the use of the white
cane. Instead, he embraces it and uses it as a helpful tool for navigating his surroundings.

Correct Answer: (C) To signal his disability to others.

Reference lines: "To ease my problems getting around, and to signal my disability, | use a white
cane."

Explanation:

(A) To pay tribute to a scene from a classic American comedy.

This option is partially correct, as the author mentions embracing the use of the white cane as an
homage to a scene from a classic American comedy. However, this is not the primary motivation
for using the cane. The main reason stated in the passage is to signal his disability to others.

(B) To help him navigate through crowded places.

Whiletheauthor doesmentionhaving difficultynavigating crowded places, he does not explicitly
state that the primary motivation for using the cane is to navigate through these environments.
The main motivation stated in the passage is to signal his disability to others.

(C) To signal his disability to others.

This option is correct. The author explicitly states that he uses the white cane to signal his
disability. By using the cane, he is able to make others aware of his visual impairment and signal
that he may need assistance or accommodations.

(D) To carry out a social experiment.

While the author does mention his new status as a blind man allowing him to carry out a social
experiment, this is not the primary reason for using the cane. The cane serves as a practical tool
for navigationandsignaling his disability, rather than a means for conducting a socialexperiment.

Correct answer: C) Advance Authorisation Scheme
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Explanation: The Advance Authorisation Scheme accessed by DTA (Domestic tariff area) units
allows for the duty-free import of raw materials for manufacturing export items. This scheme is
placed at a similar footing to the EOU (Export Oriented Unit) and SEZ (Special Economic Zone)
schemes.

Correct Answer: d) Special Chemicals, Organisms, Materials, Equipment, and Technologies
Explanation: SCOMET stands for Special Chemicals, Organisms, Materials, Equipment, and
Technologies. It is a term used in the context of export controls to refer to a specific list of items
that are subject to regulations due to their potential dual-use nature. These items have both
civilian and military applications and require special attention and control to prevent their misuse
or diversion.

Correct Answer: d) Four

Explanation: Four new towns, namely Faridabad, Mirzapur, Moradabad, and Varanasi, have been
designated as Towns of Export Excellence (TEE). This addition is in addition to the existing 39
towns that already hold the TEE status.

Correct Answer: ¢) 'Each one teach one' initiative

Explanation: 2-star and above status holders are encouraged to provide trade-related training
based on a model curriculum. This initiative is referred to as the ‘each one teach one' initiative. It
aims to leverage the expertise of successful exporters to train and mentor interested individuals,
thereby contributing to capacity-building in the trade sector.

Correct Answer: d) Emerging Areas

Explanation:Thepillar"Emerging  Areas" intheKeyApproachfocuses ontwoaspects:developing
districts as export hubs and streamlining the SCOMET policy. It aims to identify and tap into
emerging areas of trade and address specific challenges related to e-commerce, district-level
export promotion, and the effective management of Special Chemicals, Organisms, Materials,
Equipment, and Technologies (SCOMET) policy.

Correct Answer: a) PM MITRA scheme
Explanation: The Prime Minister Mega Integrated Textile Region and Apparel Parks (PM MITRA)
scheme has been added as an additional scheme eligible to claim benefits under the CSP (Common
Service Provider) Scheme of the EPCG (Export Promotion Capital Goods) Scheme. This addition
allows eligible entities under the PM MITRA scheme to avail benefits and incentives provided by
the CSP Scheme of the EPCG Scheme.

Correct answer: A) Remission
Explanation: The Key Approach is based on Four Pillars: Incentive to Remission is one.

Correct Answer: a) New Delhi
Explanation: The App Version of the National Logistics Portal (Marine) [1] was launched in New
Delhi.

Correct Answer: (A) Sagar-Setu
Explanation: The app has been named Sagar-Setu,

Correct Answer: d) Government to Government (G2G), Government to Business (G2B), and
Business-to-business (B2B)

Explanation: The overarching NLP Marine Vision aims to cater to various stakeholders in
Government to Government (G2G), Government to Business (G2B), and Business-to-business
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(B2B) models. This indicates that the vision is designed to serve the needs of all these stakeholder
groups. Therefore, the correct answer is option d) Government to Government (G2G),
Government to Business (G2B), and Business-to-business (B2B).

Correct Answer: ¢) March 31, 2023
Explanation: The App Version of the National Logistics Portal (Marine) [1] was launched on March
31, 2023

Correct Answer: d) All of the above
Explanation: Themobile appaims to ensure datamobility, provide approvals andmonitoring, and
make information accessible for port and ministry officials as well as stakeholders.

Correct Answer: a) Sarbananda Sonowal
Explanation: Sarbananda Sonowal, the Union Minister for Ports, Shipping, and Waterways,
launched the App Version of the National Logistics Portal (Marine) [1].

Correct Answer: a) Ministryof Ports, Shipping, and Waterways
Explanation: The Ease of Logistics Portal, specifically the National Logistics Portal (marine)
(NLP), is a project of national importance, as envisaged by the Ministry of Ports, Shipping, and
Waterways, as well as the Ministry of Commerce & Industry.

Correct Answer: a) Bengaluru
Explanation: Bengaluru is mentioned as one of the five cities, along with San Francisco, Shanghai,
Beijing, and Shenzhen, that are likely to contribute more to the Hurun Global 500s within 5 years.

Correct Answer: ¢) BYJU'S
Explanation: The top-most unicorn in India is the online educator BYJU'S, with a valuation of $22
billion. Swiggy and Dream11, on the other hand, are valued at $8 billion each.

Correct Answer: b)70
Explanation: The Hurun report also mentioned that 70 unicorns were started by Indian co-
founders outside of India.

Correct Answer: ¢) More than USD 1 billion

Explanation: A unicorn is defined as any privately owned firm with a market capitalization of
more than USD 1 billion. This indicates that the market capitalization threshold for a firm to be
classified as a unicorn is more than USD 1 billion.

Correct Answer: d) Fifth
Explanation: Indiaranksfifth in the Hurun Global 500 companies list. This listcomprises the most
valuable non-state-controlled businesses globally.

Correct Answer: a) Australia

Explanation: France, Canada, and Australia are the countries that have a smaller percentage and
are likely to lose ground in the Hurun Global 500 list. This implies that these countries may
experience a decrease in their ranking or representation on the list.

Correct Answer: ¢) 138
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Explanation: The list further disclosed that India has a total of 138 unicorns, out of which 70 were
established by Indian co-founders but have their headquarters located outside India, while 68 are
based in India.

Correct Answer: a) Peshawar-Kabul motorway
Explanation: China proposed the construction of the Peshawar-Kabul motorway as an extension
of the China-Pakistan Economic Corridor (CPEC) in Afghanistan in 2021.

Correct Answer: a) Xinjiang Uygur Autonomous Region and Gwadar Port

Explanation: The China-Pakistan Economic Corridor (CPEC) connects China's northwest Xinjiang
Uygur Autonomous Region and the Gwadar Port in the western province of Balochistan in
Pakistan.

Correct Answer: a) Access to rare minerals

Explanation: Afghanistan's significance for both Pakistan and China lies in its access to rare
minerals. Afghanistan possesses a large amount of Rare Earth Minerals, which are crucial for
electronics and military equipment production. Access to these minerals can benefit both
Pakistan and China in terms of technological advancements and military capabilities.

Correct Answer: b) Islamabad, Pakistan

Explanation: The 4th round of the Foreign Minister-level Pakistan-China Strategic Dialogue was
held in Islamabad, Pakistan. During this dialogue, China and Pakistan agreed to extend the China-
Pakistan Economic Corridor (CPEC) into Afghanistan.

Correct Answer: ¢) Chabahar port

Explanation: India intends to project Chabahar port as a gateway to lucrative prospects for
commerce between India, Iran, Afghanistan, and Central Asian countries. Chabahar port is
strategically located in Iran and holds significant importance in India's regional trade plans.

Correct Answer: ¢)2013

Explanation: The Belt and Road Initiative (BRI) was launched in 2013 by President Xi Jinping.
Correct Answer: ¢) 3,000 km

Explanation: The China-Pakistan Economic Corridor (CPEC) is a 3,000-km long route comprising
infrastructure projects. The corridor spans a significant distance to connect China's northwest
Xinjiang Uygur Autonomous Region with the Gwadar Port in the western province of Balochistan
in Pakistan.

Reference Lines:

"This influence is considered 'undue' when it overpowers the free will and judgment of the
influenced party, leading to an unfair or inequitable contract."”

"To establish undue influence, it must be proven that there was a relationship of trust or
confidence."

Correct Answer: (C) Yes, because Ravi took advantage of Aman's inexperience and trust in him.
Explanation:

Option C is correct. The reference lines highlight that undueinfluence can occur when a dominant
party takes advantage of a relationship of trust or confidence to exert influence over another's
decision, leading to an unfair contract. Here, Ravi used his close friendship with Aman (a
relationship of trust) and took advantage of Aman's financial inexperience to persuade him to
invest in a dubious venture.
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Option A is incorrect. Although Ravi did use their friendship to influence Aman's decision, this
alone does not constitute undue influence. Undue influence requires the dominant party to exploit
a position of power or authority to overbear the free will of the other party.

Option B is incorrect. Even though Aman willingly signed the contract, the question raises a
concern that his free will may have been overridden due to Ravi's influence. Undue influence can
occur even when a party "willingly" enters into a contract if their decision-making was excessively
swayed by the other party.

Option D is incorrect. While the failure of the business venture is indeed a business risk, it does
not address the issue of undue influence. The question at hand is whether Aman was unduly
influenced to enter the contract, not the outcome of the business venture.

Reference Lines:

"Fraud, on the other hand, involves intentional deception or deceit to induce another party to
enter into a contract.”

"The representation must be made with the knowledge of its falsity or without a reasonable belief

in its truth.”

Correct Answer: (C) Yes, because Mr. Verma made the false representation with the knowledge
of its falsity.

Explanation:

Option C is correct. Given the reference lines, the fact that Mr. Verma knowingly misrepresented
the age of the car indicates an intentional deception or deceit, which is a crucial element of fraud.
Thus, Mr. Sharma is likely to succeed in his lawsuit against Mr. Verma for fraud.

Option A is incorrect. Although Mr. Verma did misrepresent the age of the car, the question
focuses on whether he committed fraud, not misrepresentation. The distinguishing factor here is
the intent to deceive, which is more explicitly stated in option C.

Option B is incorrect. While it is prudent for parties to conduct their own investigations before
entering into contracts, the lack of investigation by Mr. Sharma does not absolve Mr. Verma of his
fraudulent behavior.

Option D is incorrect. The fact that Mr. Sharma was influenced by Mr. Verma's reputation doesn't
negate the possibility of fraud. Mr. Verma's reputation might have induced trust, but the crucial
issue here is the false representation about the car's age made by Mr. Verma.

Reference Lines:

"Misrepresentation refers to a false statement made by one party that induces another party to
enter into a contract.”

"Unlike fraud, misrepresentation may not necessarily involve the intention to deceive."
Correct Answer: (C) Yes, because Rajan's non-disclosure of material information induced Rohan

to enter into the contract.

Explanation:

Option C is correct. Misrepresentation includes a false statement or non-disclosure of a material
fact that induces another party to enter into a contract. Here, Rajan's non-disclosure of the
possible zoning restriction was a material fact that influenced Rohan's decision to enter into the
contract.

Option A is incorrect. Rajan did not make an activefalse statement, but rather, he failed to disclose
a material fact. Misrepresentation can involve either false statements or non-disclosure, but the
phrasing in option A is not precise enough.

Option B is incorrect. While it is true that Rajan may not have intended to deceive Rohan, the
intention to deceive is not necessary to establish misrepresentation, unlike fraud. The key issue
here is the non-disclosure of material information, not Rajan's intent.

Option D is incorrect. While there may be no explicit legal obligation for Rajan to disclose the
possible zoning restriction, in contract law, material facts known to one party and not to the other,
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especially those that can significantly influence the contract, should be disclosed. The non-
disclosure can lead to misrepresentation, providing grounds for contract rescission.

Reference Lines:

"Misrepresentation refers to a false statement made by one party that induces another party to

enter into a contract.”

"Unlike fraud, misrepresentation may not necessarily involve the intention to deceive"

Correct Answer: (A) Yes, because Simran made a false statement that induced Raj to enter into

the contract.

Explanation:

Option A is correct. Based on the reference lines, misrepresentation refers to a false statement
that induces another party to enter into a contract. In this case, Simran's claim that the painting
was an original piece by a famous artist, which turned out to be false, induced Raj to purchase the
painting. The intent to deceive is not a necessary condition for misrepresentation, unlike in fraud.
Option B is incorrect. As mentioned in the reference lines, the intention to deceive is not a
necessary element for misrepresentation. Therefore, even if Simran did not intend to deceive Raj,
she can still be held liable for misrepresentation.

Option C is notfully correct. Whileit's truethat Simran mayhavebeen negligent in not confirming
the painting's authenticity, the key issue is that she made a false statement which induced Raj to
enter into the contract. Therefore, option A is a more complete answer.

Option D is incorrect. The responsibility of ensuring the truth of the statement rested on Simran,
as she was the one making the claim about the painting's authenticity. Raj, as the buyer, relied on
Simran's professional expertise and had no obligation to independently verify the painting's
authenticity.

Reference Lines:

"Misrepresentation refers to a false statement made by one party that induces another party to
enter into a contract.”

"Exceptions to the general rule of avoiding contracts tainted by undue influence, fraud, or
misrepresentation include cases where the affected party has ratified the contract, waived their
right to avoid it, or has been deemed to have had equal knowledge of the relevant facts."
Correct Answer: (C) Yes, because Ravi failed to carry out a reasonable duty to investigate the
truth.

Explanation:

Option C is correct. As a real estate agent, Ravi has a professional responsibility to verify the facts
about the property he's selling. His failure to inspect the house and ascertain the truth about the
termite infestation can be seen as a negligent misrepresentation

Option A is correct but less complete than option C. Ravi did make a false statement, but the key
issue here is his negligence in not verifying the facts about the termite infestation, which is
covered in option C.

Option B is incorrect. Even though Arjun had an opportunity to inspect the house, Ravi, as a real
estate agent, had a duty to provide accurate information about the property. The fact that Arjun
could have inspected the house himself does not absolve Ravi of his professional responsibilities
Option D is incorrect. While Ravi may not have intended to deceive, his negligence in providing
accurate information about the house is still considered misrepresentation. The intent to deceive
is not required for a claim of negligent or innocent misrepresentation.

Reference Lines:
"Strict and absolute liability impose liability on a party without the need to establish fault. These
concepts are often applied in cases involving inherently dangerous activities or products.”
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"The essential elements of strict liability include proving that the defendant engaged in the
activity or produced the product, the harm or damage occurred, and a causal link exists between
the activity or product and the harm or damage."

Correct Answer: (C) Yes, because under the principle of absolute liability, Madhav is liable
irrespective of any precautions taken.

Explanation:

Option C is correct. Given the inherently dangerous nature of producing fireworks, absolute
liability may apply. Under this principle, Madhav would be held liable for Gopal's injuries,
regardless of the precautions Madhav had taken to prevent such an incident.

Option A'is incorrect. While it correctly outlines the principles of strict liability, it fails to account
for the fact that the production of fireworks might be subjected to the principle of absolute liability
due to its inherently dangerous nature. The case in question likely goes beyond strict liability due
to the nature of the activity.

Option B is incorrect. Despite Madhav's precautions, the nature of the activity in question falls
under absolute liability, which applies even when all possible precautions are taken.

Option D is incorrect. While the explosion might have been accidental, the principles of strict and
absolute liability do not require intentionality or fault on Madhav's part. The nature of Madhav's
activity and the harm caused to Gopal are the main factors considered.

Correct Answer: D) Yes, because the principle of strict liability applies, despite Ms. Thompson
taking all necessary precautions.

Reference Lines:

"Strict and absolute liability impose liability on a party without the need to establish fault. These
concepts are often applied in cases involving inherently dangerous activities or products." and
"Strict liability is often applied in cases involving dangerous or hazardous activities, such as
storing and transporting hazardous materials, operating high-risk machinery, or keeping wild
animals.”

Detailed Explanation:

A) Incorrect. While it is true that Ms. Thompson took all necessary precautions, the nature of the
activity is inherently dangerous and strict liability applies, which imposes liability regardless of
the precautions taken.

B) Incorrect. Thereasoning is insufficient. Theattack by thelion is a consequence of the inherently
dangerous activity, but the reason for liability is the application of the principle of strict liability,
not simply the fact of the attack.

C) Incorrect. The fact that the lion escaped due to a mechanical fault does not absolve Ms.
Thompson of liability. The focus in strict liability is not on the fault or control of the defendant,
but on the inherently dangerous activity itself.

D) Correct. As per the principle of strict liability, Ms. Thompson can be held liable for the injuries
caused to Mr. Johnson because she engaged in an inherently dangerous activity (keeping wild
animals), even if she took all necessary precautions. The harm occurred (Mr. Johnson was
injured), and there is a direct causal link between the activity and the harm. The escape of the lion
and the resulting injury to Mr. Johnson occurred as a consequence of this inherently dangerous
activity.

Correct Answer: C.

Reference lines: "Absolute liability holds a party strictly liable for the consequences of their
actions or products, irrespective of any fault or negligence. It is based on the principle that certain
activities or products are so inherently dangerous that the party engaging in the activity or
producing the product must bear the burden of liability regardless of their level of care."
Detailed Explanation:
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Option A is incorrect because the case scenario represents a situation where absolute liability
would apply rather than strict liability due to the extreme inherent danger of dynamite
operations.

Option B is incorrect because while voluntary assumption of risk may relieve the defendant of
liability in some cases, this is generally not applicable in situations of absolute liability where the
potential danger is extremely high.

Option C is correct. Given the extreme inherent risk associated with dynamite operations, Apex
Mining Corporation is absolutely liable for the damages and injuries caused by theexplosion,
regardless of their precautions or lack of fault.

Option D is incorrect as even though the accident was due to a technical malfunction, under the
principle of absolute liability, Apex Mining Corporation is still liable as it bears the burden of
liability regardless of unforeseen events.

Reference Lines: "Absolute liability holds a party strictly liable for the consequences of their
actions or products, irrespective of any fault or negligence. It is based on the principle that certain
activities or products are so inherently dangerous that the party engaging in the activity or
producing the product must bear the burden of liability regardless of their level of care." and
"Similarly, if the plaintiff voluntarily assumes the risk associated with the activity or product, it
may relieve the defendant of liability."

Correct Answer:

D) No, as Bella willingly acknowledged the risks associated with visiting the snake exhibit, thereby
potentially absolving Adam ofliability.

Explanation:

Option A) is incorrect. Althoughabsoluteliabilitydoes meanthat Adamcould be heldresponsible,
Bella's consent to the risk involved in the activity could serve as a defense, exempting Adam from
liability.

Option B) is incorrect. The principle of absolute liability would apply in this case, making Adam
liable irrespective of his adherence to safety precautions. This is because the doctrine of absolute
liability mandates that those engaged in inherently dangerous activities must bear the costs of
any harm that results, regardless of the precautions taken.

Option C) is incorrect. While it correctly states that absolute liability applies irrespective of the
precautions taken, it fails to consider Bella's voluntary assumption of risk. This voluntary
assumption of riskcouldserve as a defense, potentiallyabsolving Adam of liabilityunder absolute
liability.

Option D) is correct. According to the doctrine of absolute liability, a plaintiff's voluntary
assumption of risk can serve as a defense to relieve the defendant of liability. This is supported by
the reference line "Similarly, if the plaintiff voluntarily assumes the risk associated with the
activity or product, it may relieve the defendant of liability." Even though absolute liability
generally holds Adam accountable, Bella's acknowledgement of risk changes the circumstance,
potentially absolving him of liability.

Correct Answer:

A. Yes, because she operates a business involving inherently dangerous activities.

Reference Lines:

- "Strict liability refers to the legal responsibility imposed on a party for the consequences of their
actions or omissions, regardless of their fault or intention."

- "Under strict liability, the focus is on the activity or conduct itself, rather than the state of mind
of the defendant.”

Explanation of Options:

A. This option is correct because strict liability focuses on the activity or conduct, not the fault or
intention of the defendant. Since Ms. Perez operates a business involving hazardous materials,
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which is inherently dangerous, she could be held liable for the damages caused by the accident,
regardless of her precautions.

B. This option is incorrect because strict liability imposes liability regardless of whether all
reasonable precautions were taken.

C. This option is incorrect because while the supplier's faulty packaging caused the accident, Ms.
Perez can still be held liable under strict liability due to her involvement in a business that
includes inherently dangerous activities.

D. This option is incorrect as the supplier's fault does not exempt Ms. Perez from strict liability.
The focus under strict liability is on the activity or conduct itself, rather than the state of mind or
actions of a third party.

Correct Answer:

D. No, because Mr. Jones was fully aware of Mr. Smith's drumming habit before he moved in.
Reference Lines:

- "Substantial and unreasonable interference with the use and enjoyment of another person's
property."

- "Coming to the nuisance doctrine. This principle holds that if someone moves to a location with
knowledge of an existing nuisance, they cannot subsequently complain about it."”

Explanation of Options:

A. This option is incorrect. While Mr. Smith's drumming may be seen as a substantial and
unreasonable interference with Mr. Jones's enjoyment of his property, the fact that Mr. Jones was
fully aware of this activity before he moved in precludes him from making a successful nuisance
claim.

B. This option is incorrect. While the determination of what constitutes a substantial interference
can be subjective, the description suggests that the drumming is indeed disruptive. However, this
is irrelevant considering Mr. Jones knew about the drumming beforehand.

C. This option is incorrect. While the drumming disrupts the tranquility of Mr. Jones's countryside
home, Mr.Jones wasaware ofthedrummingbefore movingin, makingasuccessfulnuisanceclaim
unlikely.

D. This is the correct answer. Under the "coming to the nuisance" doctrine, Mr. Jones, having been
fully informed about Mr. Smith's drumming habit, cannot subsequently claim it as a nuisance.

Correct Answer:

A. Yes, because the noise and lights are substantial and unreasonable interference with Tom’s
property.

Reference Lines:

-"This means that a reasonable person would not find the interference acceptable or tolerable in
the circumstances. Whether an interference is unreasonable depends on various factors,
including the nature of the activity or condition, its duration, the location, and the effect on the
surrounding community."

- "It typically arises from activities conducted on neighboring properties, such as noise, odors,
vibrations, or pollution."”

Explanation of Options:

A. This is the correct answer. The loud humming noise and bright lights emitted by the plant can
be seen as substantial and unreasonable interference with Tom's property. It affects his ordinary
comfort and enjoyment of his property and could be considered a private nuisance.

B. This option is incorrect. Although the plant is operating legally and has all necessary permits,
it doesn't necessarily shield it from a private nuisance claim. The key is whether its operation
causes substantial and unreasonable interference with the use and enjoyment of an individual's

property.
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C. This option is incorrect. Although the plant operates 24 hours a day, this in itself is not a
determinant of a nuisance claim. The focus is on whether the plant's operations cause substantial
and unreasonable interference with Tom's use and enjoyment of his property.

D. This option is incorrect. The "coming to the nuisance” defense typically applies when a person
moves to an area with knowledge of an existing nuisance. It's not mentioned that Tom moved into
his house knowing about the plant’s operation. Even if he did, the presence of a nuisance could
still be a matter of legal consideration.

Correct Answer:

B. No, because carpentry is a reasonable activity for a suburban resident.

Reference Lines:

- "Additionally, certain activities may be considered reasonable and may not be considered a
nuisance, even if they cause some interference."”

- "It typically arises from activities conducted on neighboring properties, such as noise, odors,
vibrations, or pollution."”

Explanation of Options:

A. This option is incorrect. The fact that Mr. Peterson's activities produce noise and vibrations
does not automatically make them a nuisance. The key is whether the noise and vibrations are
substantial and unreasonable, which depends on various factors including the nature of the
activity and the norms of the surrounding community.

B. This is the correct answer. Small-scale carpentry during the daytime can be considered a
reasonable activity for a suburban resident, and may not be considered a nuisance, even if it
causes some interference.

C. This option is incorrect. The interference with Mrs. Brown's peace and quiet does not
necessarily constitute a nuisance. Whether it amounts to a nuisance depends on whether the
interference is substantial and unreasonable, which may not be the case with daytime carpentry
in a suburban area.

D. This option is incorrect. Although the interference is during the daytime, this alone does not
exempt Mr. Peterson from potential nuisance liability. The determining factors are whether the
interference is substantial and unreasonable, taking into account the nature of the activity, the
location, and the effect on the surrounding community.

Correct Answer:

C. Yes, because the smell is causing inconvenience and discomfort to the residents.

Reference Lines:

- "Public nuisance, on the other hand, affects the rights and interests of the general public. It
involves actions or conditions that interfere with public health, safety, or convenience, such as a
hazardous waste facility emitting toxic fumes that affect an entire community."

- "Additionally, certain activities may be considered reasonable and may not be considered a
nuisance, even if they cause some interference."

Explanation of Options:

A. This option is incorrect. The existence of a pungent smell alone does not automatically
categorize the situation as a nuisance. The determination of whether something is a nuisance
involves considering whether the interference is substantial and unreasonable.

B. This option is incorrect. The length of operation of the factory is not relevant in determining
whether its actions constitute a nuisance. Nuisance law focuses on whether current activities
create unreasonable interferences with the use and enjoyment of property.

C. This is the correct answer. If the smell from the factory is causing significant inconvenience and
discomfort to the residents, this may meet the threshold of substantial and unreasonable
interference, thereby qualifying as a nuisance.
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D. This option is incorrect. The duration of the smell does not necessarily determine if it's a
nuisance. Even if the smell is only present for a few hours each day, it could still constitute a
nuisance if it is causing substantial and unreasonable interference with the residents' enjoyment
of their property.

Correct Answer:

D. No, because IndustriesPlus is operating within thegovernment regulations and is necessary for
societal progress.

Reference Lines:

- "Public nuisance, on the other hand, affects the rights and interests of the general public. It
involves actions or conditions that interfere with public health, safety, or convenience, such as a
hazardous waste facility emitting toxic fumes that affect an entire community."

- "activities that are authorized by law or conducted pursuant to government regulations may be
shielded from liability. This recognizes that certain activities, such as industrial operations or
construction projects, may inherently create some level of inconvenience or disturbance but are
necessary for societal progress."

Explanation of Options:

A. This option is incorrect. While the residents are indeed affected by the noise and fumes from
IndustriesPlus, this in itself does not make for a successful nuisance claim, as there are exceptions
to consider such as the ones in the provided reference lines.

B. This option is incorrect. Even though the coming to the nuisance doctrine can sometimes serve
as a defense, the fact that the factory has been operating for 20 years and the residents knew
about it before moving in is not a surefire guarantee against a successful nuisance claim, as each
case is subject to specific circumstances and judgements.

C. This option is incorrect. While it's true that the operations of IndustriesPlus are affecting the
health of the residents, this in itself does not assure a successful nuisance claim as the factory is
operating within government regulations and is shielded from liability, as indicated in the
reference lines.

D. This is the correct answer. As per the given reference lines, activities that are authorized by law
or conducted pursuant to government regulations may be shielded from liability, recognizing that
certain activities may inherently create some level of inconvenience or disturbance but are
necessary for societal progress. Therefore, IndustriesPlus, despite its emissions, is operating
within these conditions and can be shielded from a successful nuisance claim.

Correct Answer:

A. Yes, because Jane agreed to indemnify Rob for any loss or damage he may suffer as a result of
the painting job.

Reference Lines:

- "A contract of indemnity is a contract in which one party agrees to compensate the other party
for any loss or damage they may suffer as a result of a specified event."

- "an agreement by one party to compensate the other in case of such loss."

Explanation of Options:

A. This is the correct answer. As per the reference lines, a contract of indemnity involves one party
agreeing to compensate the other party for any loss or damage they may suffer as a result of a
specified event. In this case, Jane agreed to indemnify Robfor any damages he might suffer during
the painting job, which would include the damage to his equipment caused by the hailstorm.

B. This option is incorrect. The cause of the damage does not change the fact that Jane agreed to
indemnify Rob for any loss or damage suffered during the painting job. The hailstorm occurred
during the painting job, and therefore, the damages caused by it fall within the scope of the
indemnity clause.
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C. This option is incorrect. While the indemnity clause does cover any damage to Rob's painting
equipment, this option does not specify that Jane agreed to indemnify Rob for any loss or damage
he may suffer as a result of the painting job. Therefore, while C is technically true, it is not the best
answer.

D. This option is incorrect. Although Rob's decision to leave his equipment out during the
hailstorm might be considered imprudent, it does not alter the fact that Jane agreed to indemnify
him for any loss or damage suffered during the painting job. Thus, despite Rob's actions, Jane is
still obliged to indemnify him based on the terms of the contract.

Correct Answer:

D. No, because Mr. Johnson is not a party to the contract between BlueLine Tech and WhiteCloud
Services.

Reference Lines:

- "The concept of privity of contract refers to the principle that only parties to a contract have

rights and obligations under that contract."

- "This principle prevents a party from suing or being sued by a person with whom they have no

contractual relationship."

Explanation of Options:

A. This option is incorrect. While Mr. Johnson did make a promise, he is not a party to the contract
between BlueLine Tech and WhiteCloud Services. As such, the principle of privity of contract
prevents him from being held liable under the contract.

B. This option is incorrect. While it is true that there was no separate contract between Mr.
Johnsonand WhiteCloud Services, the absence of a separate contract does not enable WhiteCloud
Services to enforce Mr. Johnson's promise. Mr. Johnson's promise is notenforceable because he is
not a party to the contract between BlueLine Tech and WhiteCloud Services, and the privity of
contract principle holds.

C. This option is incorrect. Although Mr. Johnson's promise might appear to resemble a contract
of guarantee, there is no valid contract of guarantee here as there was no separate agreement
between Mr. Johnson (potential surety) and WhiteCloud Services (creditor).

D. This is the correct answer. As per the given reference lines, the concept of privity of contract
refers to the principle that only parties to a contract have rights and obligations under that
contract. Mr. Johnson, not being a party to the contract between BlueLine Tech and WhiteCloud
Services, is shielded from liability.

Correct Answer:

B. No, because you are not a party to the contract and the principle of privity of contract applies.
Reference Lines:

- "The concept of privity of contract refers to the principle that only parties to a contract have
rights and obligations under that contract."

- "It means that a third party who is not a party to the contract generally cannot enforce the terms
of the contract or be held liable for its breach.”

Explanation of Options:

A. This option is incorrect. Even though John told BuildCo that you would be paying for the
construction work, the principle of privity of contract means that only parties to a contract have
rights and obligations under it. As you are not a party to the contract, you generally cannot be held
liable for its breach.

B. This is the correct answer. As per the given reference lines, the principle of privity of contract
establishes that only parties to a contract have rights and obligations under that contract.
Therefore, as you are not a party to the contract, BuildCo generally cannot enforce the contractual
obligations against you.
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C. This option is incorrect. While certain statutory provisions may allow third parties to enforce
contractual terms or obligations in some situations, there is no indication in the given fact
scenario that such statutory provisions apply here.

D. This option is incorrect. Even if John should have included your name in the contract, the fact
that he did not means that you are not a party to the contract. Therefore, as per the principle of
privity of contract, you generally cannot be held liable for its breach.

Correct Answer:

B. No, because Alex's contract was with Maria, not Kim.

Reference Lines:

- "The concept of privity of contract refers to the principle that only parties to a contract have
rights and obligations under that contract."

- "certain statutory provisions that allow third parties to enforce contractual terms or
obligations."

Explanation of Options:

A. This option is incorrect. While Alex indeed signed a contract stating he would pay if John fails
to pay, this contract was specifically with Maria, not with Kim or any potential third-party.

B. This is the correct answer. As per the privity of contract principle, only parties to a contract
have rights and obligations under it. Alex's contract was with Maria and not Kim, which means
Kim cannot enforce any demands against Alex under this contract.

C. This option is incorrect. The fact that Kim is now the owner of the car does not give her any
rights to enforce the contract between Alex and Maria. Her ownership of the car does not alter the
obligations under the original contract.

D. This option is incorrect. While it is true that Kim was not a party to the original contract
between Maria and John, the reason she cannot enforce demands against Alex is not only because
she was not a party to the original contract, but specifically because she is not a party to the
contract between Alex and Maria.

Correct Answer:

A. Yes, because Robert agreed to be the guarantor in case of John's default.

Reference Lines:

-"A contract of guarantee involves a third party, known as the surety or guarantor, who agrees to
be responsible for the fulfillment of the obligations of another party, known as the principal
debtor, in case of default."

- "The essential ingredients of a contract of guarantee include the liability on the part of the
principal debtor."

Explanation of Options:

A. This is the correct answer. As per the reference lines, Robert agreed to be the guarantor and to
be responsible for the fulfillment of John's obligations in case of default. Therefore, Tom can
successfully sue Robert for the payment.

B. This option is incorrect. Even if Robert claims he didn't understand the terms of the contract,
once he signed the contract of guarantee, he took on the responsibility of being the guarantor.
Therefore, this argument is likely not to hold up in court.

C. This option is incorrect. While it's true that John failed to fulfill his obligations, Tom's claim
should be directed towards Robert, who is the guarantor in this situation and has agreed to fulfill
the payment in case of John's default.

D. This option is incorrect. While John is indeed the principal debtor, the contract of guarantee
involves Robert agreeing to fulfill John's obligations in case of default. Therefore, Robert can be
sued for the payment.

Correct Answer:
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A. Yes, because Ravi's action caused Suresh to fear imminent bodily injury.

Reference Lines:

- "Assault is an offense under Section 351 of the IPC. It involves the intentional act of causing
apprehension of imminent harm or the intentional act of causing fear of instant bodily injury to
another person."

- "The essential ingredients of assault include the intentional act, the presence of fear or
apprehension of harm, and the reasonable likelihood of immediate bodily injury."

Explanation of Options:

A. This is the correct answer. As per the reference lines, Ravi's action of moving towards Suresh
with clenched fists, which caused Suresh to fear imminent bodily injury, qualifies as an assault
under Section 351 of the IPC.

B. Thisoption is incorrect. Eventhough Ravi did notphysicallyinjure Suresh, the fear of imminent
harm that he caused is enough to classify the act as assault.

C. This option is incorrect. While Ravi's action of clenching his fists could be seen as an indicator
of intention to harm, the crux of the matter lies in causing fear of imminent bodily harm, which is
fulfilled in thiscase.

D. This option is incorrect. Despite Ravi's claim that he never intended to hit Suresh, his actions
caused Suresh to fear immediate bodily injury, and that fulfills the definition of assault.

Correct Answer:

A. Yes, because Sameer's act can be classified as assault under Section 351 of the IPC.

Reference Lines:

- "Assault is an offense under Section 351 of the IPC. It involves the intentional act of causing
apprehension of imminent harm or the intentional act of causing fear of instant bodily injury to
another person."

- "The offense of assault focuses on the mental state and intention behind the act.”

Explanation of Options:

A. This is the correct answer. As per the reference lines, assault does not necessarily require
physical contact. The intent to cause apprehension or fear of imminent harm is enough for an act
to be classified as assault under Section 351 of the IPC. Thus, Sameer could indeed be held
accountable for hisactions.

B. This option is incorrect. Even though Sameer didn't physically harm Rajat, his act of raising his
fist and threatening to punch Rajat caused apprehension and fear, thus constituting assault under
the IPC.

C. This option is incorrect. Battery requires physical harm or injury, which didn't occur in this
case. Sameer didn't physically touch Rajat; hence his actions cannot be categorized as battery
under Section 352 of the IPC.

D. This option is incorrect. The location of the offense doesn't absolve someone from liability
under IPC laws. As such, the fact that Sameer's actions occurred in a public place doesn't mean
IPC laws don'tapply.

Correct Answer:

D. No, because Sarita acted in self-defense, which is a lawful justification for her actions.
Reference Lines:

- "Battery, on the other hand, is a more severe offense under Section 352 of the IPC. It involves the
intentional act of causing physical harm or injury to another person."

- "Essential ingredients of battery include the absence of lawful justification or consent.”
Explanation of Options:

A. This option is incorrect. While Sarita did intentionally cause physical harm, her actions were in
self-defense, which is a lawful justification under the IPC.
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B. This option is incorrect. The intent in battery is to cause physical harm or injury, which Sarita
did. However, she was acting in self-defense, which can justify her actions.

C. This option is incorrect. Although the man was injured as a result of Sarita's actions, her actions
were in response to a perceived threat, making her actions potentially justified under the
principle of self-defense.

D. This is the correct answer. Despite Sarita causing harm to the man, her actions were in self-
defense, which is a lawful justification. Therefore, she cannot be successfully prosecuted for
battery under the IPC.

Correct Answer:

A. Yes, because Sunita's death occurred within seven years of marriage and she was being
harassed for dowry.

Reference Lines:

- "It addresses cases where a married woman dies under suspicious circumstances within seven
years of her marriage"

- "The essential ingredients of dowry death include the death of a woman"

Explanation of Options:

A. This is the correct answer. As per the reference lines, dowry death involves the death of a
married woman under suspicious circumstances within seven years of marriage. The consistent
harassment for dowry coupled with the suspicious circumstances surrounding Sunita's death
make this a case for dowry death, regardless of Ravi's claims.

B. This option is incorrect. Even though Ravi claims the death was accidental, the law requires the
circumstances to be "suspicious”, and it is not solely about whether the death was directly caused
by dowry harassment. The regular harassment for dowry followed by a sudden, unexplained
death can make this a case for dowry death.

C. This option is incorrect. Not every death of a woman within seven years of marriage constitutes
dowry death. There must be a connection to dowry demands and harassment or cruelty by the
husband or hisfamily.

D. This option is incorrect. While Ravi claims there is no link between the dowry harassment and
Sunita's death, the harassment followed by a suspicious death within seven years of marriage
could potentially fulfill the conditions of dowry death under Section 304B of the IPC. The court
will consider the entirety of the circumstances when making its decision.

Correct Answer:

B. No, because Sunita's death occurred due to natural causes, and there is no direct link between
the harassment and her death.

Reference Lines:

- "It addresses cases where a married woman dies under suspicious circumstances within seven
years of hermarriage."

- "If it can be established that the death was a result of an accident or natural causes and not
connected to cruelty or harassment for dowry, the offense may not be applicable.”

Explanation of Options:

A. This option is incorrect. While Ravi and his parents subjected Sunita to dowry-related
harassment, there's no direct link between the harassment and her death. Therefore, they cannot
be charged with dowry death under Section 304B of the IPC.

B. This is the correct answer. As per the reference lines, Sunita's death was due to a natural cause,
a cardiac arrest, and there's no evidence to connect the heart attack with the dowry-related
harassment. Therefore, dowry death under Section 304B of the IPC may not be applicable.

C. This option is incorrect. Although Sunita's death occurred within seven years of her marriage,
the crucial factor here is the cause of her death and its connection to dowry-related harassment.
As there's no direct link between the harassment and her death, Section 304B may not apply.
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D. This option is incorrect. The timing of the dowry demand (two months after the marriage)
doesn't exempt Ravi and his parents from potential liability. The key point is the lack of a direct
link between the dowry-related harassment and Sunita's death.

Answer: B) Ravi committed assault, while Suresh committed battery.

Reference: “Assault is an offense under Section 351 of the IPC. It involves the intentional act of
causing apprehension of imminent harm or the intentional act of causing fear of instant bodily
injury to another person.” “Battery, on the other hand, is a more severe offense under Section 352
of the IPC. It involves the intentional act of causing physical harm or injury to another person.
Unlike assault, battery requires physical contact.”

Explanation: Ravi committed assault by throwing a stone at Suresh’s window, causing fear of
instant bodily injury. He also attempted to commit battery by holding another stone, but he did
not succeed in making physical contact. Suresh committed battery by hitting Ravi on the head
with a stick, causing physical harm. He did not act in self-defense, as he was not under imminent
harm when he ran towards Ravi.

Correct Answer:

B. No, because the President has limited immunity from legal proceedings for their official acts.
Reference Lines:

- "Impeachment is a process of charging and removing a high-ranking public official from office
due to their actions or behavior."”

"The President has limited immunity from any legal proceedings for their official acts."
Explanation of Options:

A. This option is incorrect. While the President has been found guilty by a court of law, he enjoys
limitedimmunityfrom legal proceedings for his official acts. Thisimmunity can protect him from
impeachment in thisscenario.

B. This is the correct answer. The President of India, according to the Constitution, enjoys limited
immunity from any legal proceedings for their official acts during their tenure. Therefore, even if
a court finds the President guilty for actions performed as part of his official duties, he cannot be
impeached for thesame.

C. This option is incorrect. Even though impeachment is a process meant for charging and
removing a high-ranking public official from office due to their actions or behavior, in this case,
the President has limited immunity from legal proceedings for his official acts. Therefore, he
cannot be impeached for the same.

D. This option is incorrect. The formation of a special committee is indeed part of the
impeachment process, but it isn't the primary issue here. The critical point is that the President
enjoys limited immunity for his official acts, which protects him from impeachment in this
scenario.

Correct Answer:

B. No, because impeachment is a process of charging and removing a high-ranking public official
due to their actions or behavior, including official acts.

Reference Lines:

- "Impeachment is a process of charging and removing a high-ranking public official from office
due to their actions or behavior."

- "The President has limited immunity from any legal proceedings for their official acts."
Explanation of Options:

A. This option is incorrect. Although the President enjoys limited immunity from legal
proceedings for their official acts, this does not fully protect them from impeachment.
Impeachment is a constitutional process specifically designed to address misconduct by public
officials, including the President, even when their official acts are involved.
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B. This is the correct answer. The President's claim that they cannot be impeached for an official
act is invalid, as impeachment is a process designed to hold high-ranking public officials
accountable for their actions, including their official acts, especially if those acts are deemed to
violate the Constitution.

C. This option is incorrect. While the President does enjoy immunity from criminal proceedings
during their tenure, this does not mean they are fully exempt from impeachment. Impeachment
is a specific process distinct from ordinary legal proceedings, designed to hold the President
accountable for misconduct or violations of the Constitution.

D. This option is incorrect. The question isn't whether the President can issue an unconstitutional
executive order (they shouldn't), but whether they can be impeached for such an act. The answer
is yes, they can be impeached for such behavior, notwithstanding their limited immunity for
official acts.

Correct Answer:

B. No, because the motion for impeachment must be supported by at least one-fourth of the total
membership of the Lok Sabha, and it needs to be passed with a two-thirds majority.

Reference Lines:

- "Impeachment is a process of charging and removing a high-ranking public official from office
due to their actions or behavior."

- "Essential ingredients for impeachment of the President include the introduction of a motion in
either House of Parliament, the support of at least one-fourth of the total membership,
investigation by a special committee, and approval of impeachment by two-thirds majority in the
relevant House."

Explanation of Options:

A. This option is incorrect. Althoughthespecial committeefound the allegations against President
K to be valid, the impeachment process still requires the motion to be supported by at least one-
fourth of the total membership of the Lok Sabha and to be passed with a two-thirds majority.

B. This is the correct answer. According to the reference lines, the motion for impeachment needs
to be supported by at least one-fourth of the total membership of the Lok Sabha. In this case, it
means at least 137 members (out of a total of 545) must support the motion. Additionally, the
impeachment motion needs to be passed with a two-thirds majority. Here, the Lok Sabha passed
the motion with a 67% majority which does fulfil this essential.

C. This option is incorrect. A majority vote is not enough. The impeachment motion needs to be
passed with a two-thirds majority in the Lok Sabha and the motion itself needs to be supported
by at least one-fourth of the total membership of the Lok Sabha.

D. This option is incorrect. While the President does have immunity from legal proceedings for
his official acts, it does not shield him from impeachment proceedings in case of a constitutional
violation.

Correct Answer:

B. No, because the resolution for impeachment was not supported by a majority of the total
membership of the Assembly.

Reference Lines:

- "A Governor can be impeached on similar grounds of misconduct or violation of the
Constitution."

- "Essential ingredients for the impeachment of the Governor include the introduction of a
resolution in the State Legislative Assembly, the support of a majority of the total membership,
inquiry or investigation by the President, and the final decision by the President to advise
resignation or removal from office."

Explanation of Options:
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A. This option is incorrect. Whilethe Governor has beenaccused of misconduct and constitutional
violation, the initiation of the impeachment process requires more than just allegations. It needs
support from a majority of the total membership of the Assembly, which is not the case in this
scenario.

B. This is the correct answer. For the impeachment process against the Governor to be initiated,
the resolution for impeachment needs to be supported by a majority of the total membership of
the Assembly. In this scenario, only 45% of the membership has supported the resolution, which
falls short of the majority.

C. This option is incorrect. Although the President wishes to proceed with an inquiry, it cannot
override the requirement of a majority support from the State Legislative Assembly for the
resolution of impeachment.

D. This option is incorrect. While the President can't initiate the impeachment process on his own,
the question relates to the lack of majority support in the Assembly for the impeachment
resolution, not the President's initiative.

Correct Answer:

C. Yes, the Governor can be impeached but cannot face criminal proceedings due to theimmunity
provided to her during her tenure.

Reference Lines:

"A Governor can be impeached on similar grounds of misconduct or violation of the Constitution."
"The Constitution provides immunity to the President and Governors from any criminal
proceedings during their tenure in office."

Explanation of Options:

A. This option is incorrect. While the Governor can indeed be impeached for misconduct, she
cannot face criminal proceedings during her tenure due to the immunity provision in the
Constitution.

B. This option is incorrect. While the Governor does have immunity from criminal proceedings
during her tenure, this does not prevent the process of impeachment for misconduct.

C. This is the correct answer. As per the reference lines, the Governor can be impeached for
misconduct, including past misconduct, while serving as Governor. However, she cannot face
criminal proceedings during her tenure due to the immunity provision in the Constitution.

D. This option is incorrect. A Governor can be impeached for misconduct, regardless of when the
misconduct took place. The crucial point is that the Governor cannot face criminal proceedings
during her tenure due to the immunity provision.

96.

Answer: C) The Supreme Court can intervene only if there is prima facie evidence of the
President’s involvement in the bribery case.

Reference: “The process of impeachment starts with a motion for impeachment being introduced
in either the Lok Sabha(Lower House) or the Rajya Sabha(Upper House) of the Parliament.” “The
Constitution provides immunity to the President and Governors from any criminal proceedings
during their tenure in office.”

Explanation: The Speaker has the discretion to admit or reject a motion for impeachment, but his
decision is subject to judicial review by the Supreme Court. The Supreme Court can intervene and
direct the Speaker to admit the motion if there is prima facie evidence of the President’s violation
of the Constitution. However, if there is no such evidence, the Supreme Court cannotinterfere with
the Speaker’s decision. The President’s immunity from criminal proceedings does not prevent his
impeachment, as impeachment is not a criminal proceeding but a constitutional process.

CORRECT ANSWER IS OPTIONB.
Explanation: Option A is incorrect because the author does not argue that the Master of Roster
function is necessary, but rather that the unchecked power associated with it is problematic.
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Option C is incorrect because the author does not take a position on whether Shanti Bhushan's
attempt to limit the power of the CJI was misguided or not.

Option D is incorrect because the author argues that abuses of power in the exercise of the Master
of Roster function are serious and threaten the rule of law and stability of Supreme Court
jurisprudence.

Option B is the correct answer because the author argues that abuses of power by the Chief Justice
of India in the exercise of the Master of Roster function are a serious threat to the rule of law and
stability of Supreme Court jurisprudence.

Explanation:

The passage clearly states that the ‘Master of Roster’ is an administrative power of the Chief
Justice of India (CJI) and it is used to designate benches to hear matters. Therefore, option D is the
correct answer.

CORRECT ANSWER IS OPTION D.

Option A is incorrect because it only partially describes the role of the ‘Master of Roster’. The
passage clearly states that the power to designate benches to hear matters is a part of the role of
the ‘Master of Roster’.

Option B is incorrect because it is an exaggerated statement that is not supported by the passage.
While the passage does state that the power of the ‘Master of Roster’ has the ability to control
social lives in more ways than people can imagine, it does not imply that it is the sole purpose of
the role.

Option C is also incorrect because it is an extreme statement that is not supported by the passage.
While the ‘Master of Roster’ does have the power to determine what relationships are legal and
what government must be allowed, it is not the sole determinant of these decisions. Additionally,
the passage states that the power of the ‘Master of Roster’ does not have any limitations, which
implies that it is not checked by other institutions under the constitution.

Therefore, option D is the correct answer as it accurately describes the role of the ‘Master of
Roster’ in the Supreme Court of India.

Explanation of options:

CORRECT ANSWER ISOPTIONB.

Option A is incorrect because it discusses the oversight and accountability of a CEO in a
corporation, which is not structurally similar to the argument in the passage about the unchecked
power of the "Master of Roster" in the Supreme Court.

Option B is closer in structure to the argument in the passage because it discusses limiting the
power of a high-ranking official (in this case, the President) to prevent abuses of power. However,
the focus is on the appointment of judges to the Supreme Court, which is not directly related to
the issue of the "Master of Roster" in the Supreme Court of India.

Option C is incorrect because it is not a similar argument in structure to the passage. It discusses
the absolute control of a head of household, which is not a relevant comparison to the power of
the "Master of Roster™ in the Supreme Court.

Option D is also incorrect because it discusses the discretion of a mayor in choosing which
businesses receive tax breaks, which is not structurally similar to the argument in the passage
about the unchecked power of the "Master of Roster"” in the Supreme Court of India.

CORRECT ANSWER IS OPTION D.

Explanation:

Option A is incorrect because even if the 'Master of Roster' system is common in other countries,
it does not necessarily mean that it is functioning effectively or appropriately in India. Option B is
incorrect because it is a general statement and does not provide any evidence to refute the
argument that the power of the 'Master of Roster' can be abused. Option C is also incorrect
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because while there may be instances where the power of the 'Master of Roster' has been used
appropriately, the passage clearly highlights the instances where it has been abused. Option D is
the correct answer as it contradicts the claim that the power of the 'Master of Roster' has no
limitations and points out that efforts have been made to limit this power in the future.

CORRECT ANSWER IS OPTIOND.

Option A would strengthen the argument because it provides evidence from other democratic
countries that limiting the power of the master of roster leads to a fairer and more transparent
judicial system. This argument adds reliability to the conclusion that the power of the master of
roster needs to be limited.

Option B also strengthens the argument because it provides evidence that the Supreme Court of
India has faced criticism due to the questionable use of the master of roster power. This argument
identifies a weakness in the passage, which is the lack of evidence to support the claim that the
power of the master of roster needs to be limited.

Option C weakens the argument because it suggests that the master of roster power is necessary
for the efficient functioning of the Supreme Court of India. This argument does not provide any
evidence to support its claim and ignores the fact that the abuses of the master of roster power
harm the rule of law and stability of Supreme Court jurisprudence.

Option D weakens the argument because it suggests that the power of the master of roster does
not need to be limited based on instances when it has been used appropriately. This argument
ignores the fact that the abuses of the master of roster power harm the rule of law and stability of
Supreme Court jurisprudence.

Therefore, the correct option that strengthens the argument is option A.

CORRECT ANSWER IS OPTIONC.

Explanation: The correct option that can be inferred from the given passage is option C, which
states that the Indian government has implemented a 'separate but equal' policy in order to target
marginalized and excluded groups. The passage clearly states that the government has invested
in a system that targets a particular community group or geographic area based on social and
geographic identities. The author also mentions that these policies are akin to the 'separate but
equal' logic transformed into 'equal but separate' public policy. Options A, B, and D are incorrect
as they are either too extreme or not supported by the passage. Option A suggests that population
growth in India has turned into a virtue solely due to the high demand for technical skills in the
world job market, which is not mentioned in the passage. Option B suggests that the establishment
of 'Model High Schools' in Muslim neighbourhoods has not helped in improving the educational
outcomes of students, which is only partially true as the author mentions that although
enrollments and continuation have increased substantially, the educational outcomes are
unsatisfactory. Option D suggests that budgetary allocations and investments made towards
marginalized and excluded groups in India are under a fixed legally backed quota system, which
is not mentioned in the passage.

CORRECT ANSWER IS OPTION D.

Explanation of options:

A) This option accurately summarizes the main idea of the passage. The author discusses India's
growing population and the need for education and technical skills for success in the modern
world.

B) This option is partially correct, but it focuses too narrowly on the outcomes of education
policies in Muslim neighborhoods. The author discusses this as an example of a larger issue with
education outcomes in India, but the main point is not just about this specific policy.

C) This option is also partially correct, but it focuses too much on the "separate but equal” analogy
and does not capture the full complexity of the author's argument. The author discusses targeted
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development policies and the potential for manipulation, but also acknowledges that these
policies are intended to address systemic exclusion of certain groups.

D) This option accurately captures the main idea of the passage, but it is not as specific or focused
as option A. The author discusses the opportunities and challenges presented by India's growing
population, and the potential limitations of government policies for targeted development.
However, option A is a more concise and accurate summary of the author's argument.

CORRECT ANSWER IS OPTIONB.

Explanation: Thecorrect option is B. The author of the passage praises thestrategy of establishing
Model High Schools in Muslim neighborhoods to increase enrollments and continuation, but also
notes that the educational outcomes of students from these schools are unsatisfactory to the
extent that "a whole generation of students" are trapped in a low-quality schooling cycle system
and barely equipped to compete in open labor markets. Option A is incorrect because the author
guestions the logic of investing in separate institutions to target marginalized and systemically
excluded groups, noting that such policies are akin to the ‘separate but equal’ logic transformed
into ‘equal but separate’ public policy. Option C is incorrect because the author argues that India's
population growth can only be transformed into a virtue if millions of children and young people
receivemodern education and associated technical skills, not because it is a virtue in itself. Option
D is incorrect because the author explicitly states that the educational outcomes of students from
these schools are unsatisfactory to the extent that they are barely equipped to compete in open
labor markets.

CORRECT ANSWER IS OPTIONB.

Explanation: Option A does not weaken the argument as it supports the notion that Model High
Schools are successful. Option B, on the other hand, weakens the argument by suggesting that
there is no evidence to support the claim that the educational outcomes of students from Model
High Schools in Muslim neighborhoods are unsatisfactory. Option C is a common argument in
favor of affirmative action policies, which suggests that they are necessary to address the historic
and systemic inequalities faced by marginalized groups. As such, it does not weaken the argument.
Option D strengthens the argument by suggesting that the establishment of Model High Schools
perpetuates the "separate but equal™ logic of public policy, which is exactly what the authors argue
against in the passage. Therefore, option B is the correct answer as it weakens the argument by
guestioning the evidence for the claim that the educational outcomes of students from Model High
Schools in Muslim neighborhoods are unsatisfactory.

CORRECT ANSWER IS OPTIONA.

Option A is the correct answer, as it strengthens the argument by highlighting the flaw in India's
current policy of investing in a specific community group and how it perpetuates inequality. It
also draws a comparison to the widely criticized 'separate but equal’ policy.

Option B isincorrect as it goes against the argument by suggesting that the creation of separate
institutions and bureaucratic systems is a necessary step, despite the low-quality schooling cycle
system.

Option C is a distractor as it does not address the issue of unsatisfactory educational outcomes of
students from ‘Model High Schools'.

Option D is a distractor as it talks about the quota system, which is not discussed in the passage,
and suggests that it should be extended to other groups without addressing the issues of the
existing policy.

CORRECT ANSWER IS OPTIONC.

Option A: This argument is not similar in structure to the author's argument in the given passage.
While the conclusion does encourage individuals to prioritize healthier options, the evidence and
support provided are focused on the negative consequences of fast food consumption. In contrast,
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the author's argument discusses the need for mainstream programs and policies that are socially
sensitive and amenable to diversity in education and employment.

Option B: This argument is not similar in structure to the author's argument in the given passage.
While the conclusion does call for action to address a problem, the evidence and support provided
are focused on the scientific evidence of climate change and its effects. In contrast, the author's
argument discusses the need for inclusive policies that promote diversity in education and
employment.

Option C: This argument is similar in structure to the author's argument in the given passage. Both
arguments present an issue (standardized testing and exclusionary education policies,
respectively) and provide evidence to suggest that the issue has negative consequences (limited
educationalopportunities andlack of diversity, respectively). Both arguments concludethatthere
is a need for alternative approaches that are more inclusive and comprehensive.

Option D: This argument is not similar in structure to the author's argument in the given passage.
Whiletheconclusiondoesencourageindividuals to prioritize in-person connections, the evidence
and support provided are focused on the negative effects of social media use on mental health and
social interaction. In contrast, the author's argument discusses the need for inclusive policies that
promote diversity in education and employment.

CORRECT ANSWER IS OPTION D.

Explanation:

Option A is incorrect because the argument does not directly address the availability of well-
trained teachers in exclusive school systems. Option B is incorrect because the argument does not
explicitly state that students from marginalized communities have limited access to regular public
and publicly-funded schools and colleges. Option C is incorrect because the argument does not
state that inter-religious co-education is necessary or that segregated schooling is the cause of
low-quality education. Option D is the correct answer because the argument explicitly calls for
the establishment of 'equal opportunity commissions' to ensure the publication of diversity and
quota-related data in education and employment. The conclusion relies on the assumption that
implementing such commissions will address the existing gaps in diversity and equal
opportunities.

CORRECT ANSWER IS OPTIONC.

Explanation: The passage discusses the need to improve the quality of education in public schools
and colleges and to incentivize marginalized communities to study in them. It also emphasizes the
importance of integrating targeted groups of students into mainstream education and labor
market systems. Additionally, the passage argues for the publication of diversity data and quota
reservations at the institutional level and for the establishment of equal opportunity
commissions. However, there is no indication that the passage supports segregated schooling or
the promotion of inter-religious co-education.

Option C cannot be inferred from the text, making it the correct answer.

Option A is supported by the passage, as it suggests that students in exclusive schools require
additional coaching and tuition.

Option B and Option D are also supported, as the passage argues for the publication of diversity
data and quota reservations and the establishment of equal opportunity commissions.

CORRECT ANSWER IS OPTIONC.
Option A provides strong support for the author's argument because it highlights the poor quality
of education that untrained teachers in India can provide to their students. If India wants to
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improve its education system and create a more inclusive learning environment, it must prioritize
the training and support of its teachers.

Option B may be true, but it does not directly support the author's argument for inclusivity and
diversity in education.

Option C is the correct answer, as it proposes a concrete solution for ensuring that diversity and
guota-related data are made public and accessible, which can help to identify and address issues
of inequality andunderrepresentation.

Option D contradicts the author's argument by suggesting that segregation is necessary to
preserve cultural traditions, which goes against the goal of creating a more inclusive and diverse
educational system.

CORRECT ANSWER IS OPTIOND.

Explanation: The correct option that weakens the given argument would be the one that
contradicts or opposes the argument that establishing ‘equal opportunity commissions' in every
state and publishing diversity and quota related data in education and employment is the most
effective way to ensure diversity and equal opportunities.

Option A provides information that publishing diversity data may not have a significant impact
on improving the representation of marginalized communities in education and employment,
which contradicts the given argument.

Option B opposes the argument by stating that the establishment of 'equal opportunity
commissions' has been found to be ineffective.

Option C introduces a new argument that coaching and tuition can be more effective in improving
the quality of education and increasing the percentage of students passing school-leaving
examinations.

Option D provides an argument that opposes the given argument by suggesting that segregated
schooling could be more effective in improving academic performance for students from
marginalized communities. Hence, options A, B, and C can be eliminated as they do not weaken
the given argument, and the correct option would be D.

CORRECT ANSWER IS OPTIONB.

Option B is the best evaluation of the argument. Although the Supreme Court has wide-ranging
powers under Article 142(1), these powers cannot completely contravene fundamental rights
guaranteed by the Constitution or be entirely inconsistent with statutory laws made by
Parliament, as clarified in the 'Prem Chand Garg' case. The Bhopal gas tragedy case did highlight
the wide scope of Article 142(1), but the court clarified that this power cannot be subject to
express statutory prohibitions. Therefore, option A is incorrect. Option C is also incorrect as the
'Prem Chand Garg' case clarified that Article 142(1) cannot contravene the provisions of Article
32 or statutory laws made by Parliament. Option D is also incorrect as Article 142(1) cannot
contravene the right to constitutional remedies under Article 32, as clarified in the 'Prem Chand
Garg' case.

CORRECT ANSWER IS OPTIONA.

Article 142 grants the Supreme Court the power to ensure justice when laws or statutes do not
provide a remedy. The exercise of the Court's powers must not contravene the provisions of
Article 32, but statutory provisions cannot override a constitutional provision.

Explanation: The passage discusses the unique power of the Supreme Court under Article 142 of
the Constitution to ensure complete justice between parties when laws or statutes do not provide
a remedy. The majority opinion in the Prem Chand Garg case demarcated the contours for the
exercise of the Court's powers under Article 142(1), highlighting that the power to do complete
justice must be consistent with fundamental rights and cannot be inconsistent with substantive
provisions of relevantstatutory laws. Thepassage alsodiscusses thewidescope of Article 142(1),
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which was upheld by theseven-judgebench in Antulay. The correct answer choice, A), accurately
summarizes the main idea of the passage by highlighting the Court's power to ensure justice, the
limitations on that power with regards to Article 32, and the clarification that statutory provisions
cannot override a constitutional provision. The other answer choices either misrepresent the
main idea of the passage or focus on specific details rather than the overarching theme.

CORRECT ANSWER IS OPTIONA.

Explanation: Option A best strengthens the argument by providing additional evidence of the
wide and consistent use of Article 142 by the Supreme Court. Option B does not directly relate to
the Indian constitution or the use of Article 142, making it a distractor. Option C introduces a
counterargument against the use of Article 142, which does not strengthen the initial argument.
Option D suggests that the use of Article 142 is rare, which weakens the argument that it is an
essential tool for the court to provide justice. Thus, option A is the best choice to strengthen the
argument.

CORRECT ANSWER IS OPTION B.

Explanation:

Option A weakens the argument by suggesting that the Supreme Court's power under Article
142(1) should be limited to the provisions of the relevant statutory laws made by Parliament,
rather than being used to do "complete justice" between the parties. This contradicts the
argument presented in the passage, which emphasizes the wide scope of the Court's power under
Article 142(1).

Option B does not weaken the argument, as it simply reiterates the condition under which the
power under Article 142(1) can be used, which is already mentioned in the passage.

Option C weakens the argument by suggesting that the Supreme Court's decision in the Bhopal
gas tragedy case, which was made using its power under Article 142(1), was inconsistent with
the fundamental rights guaranteed by the Constitution. This suggests that the Court's power
under Article 142(1) may not always be consistent with the Constitution, weakening the
argument that it provides a unique power to do "complete justice" between the parties.

Option D is incorrect, as the passage clearly states that the seven-judge bench in the Antulay case
upheld the 1962 ruling in Prem Chand Garg, which demarcated the contours for the exercise of
the Court's powers under Article 142(1). Thus, this option contradicts the passage and does not
weaken the argument.

CORRECT ANSWER IS OPTIONC.

Explanation: From the given passage, it can be inferred that the Supreme Court's powers under
Article 142(1) can extend to providing a remedy where the law or statute may not provide one.
Thepassage states that Article 142 provides a unique power to the Supreme Court to do “complete
justice” between the parties, even where the law or statute may not provide a remedy. The Court
can extend itself to put an end to a dispute in a manner that would fit the facts of the case. The
Bhopal gas tragedy case highlights the wide scope of Article 142(1) and clarifies that powers
under Article 142 are not subject to express statutory prohibitions. Option A is incorrect as the
passage states that the powers cannot contravene the provisions of substantive provisions of
relevant statutory laws. Option B is also incorrect as the passage clearly states that it would not
be possible to hold that Art. 142(1) confers upon this Court powers which can contravene the
provisions of Article 32. Option D is also incorrect as the passage clarifies that powers under
Article 142 are not subject to express statutory prohibitions.

CORRECT ANSWER IS OPTIONC.
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Explanation: Option A is incorrect because while there may be shortages of skilled labor in some
developed countries, this is not the primary challenge that globalization has presented to labor
law.

Option B is incorrect because while the lack of uniform labor standards is a challenge, the "race to
the bottom™ in wages and working conditions is a more pressing concern.

Option D is incorrect because while enforcing labor laws across international borders is certainly
a challenge, it is not the primary challenge that globalization has presented to labor law.

Option C is correct because it accurately describes the primary challenge of globalization to labor
law, and explains how labor laws have adapted to address this challenge by becoming more
international in scope, establishing common standards for labor rights and protections, and
holding companies liable for labor violations committed by their subcontractors.

CORRECT ANSWER IS OPTIONB.

Explanation: Option A is incorrect becausethepassage explicitlystates that"manycountries have
signed onto ILO conventions to ensure that their labor laws meet minimum international
standards."

Option B is the correct inference drawn from the passage, as it is stated that the proliferation of
"offshore" employment relationships has made it difficult for workers to demand their rights and
protections.

Option C is incorrect because the passage states that "other countries have adopted laws that hold
companies liable for labor violations committed by their subcontractors, even if the violations
occur in another country."

Option D is also a correct inference from the passage, as it is stated that labor laws have had to
become more international in scope and sophisticated in order to address the challenges
presented by globalization.

CORRECT ANSWER IS OPTIONA

Explanation: Option A captures the main idea of the passage that globalization has led to a "race
to the bottom" in wages and working conditions, creating an uneven playing field for workers
worldwide. The passage discusses how labor laws have had to become more international in
scope to address this challenge.

Options B, C, and D are all accurate statements mentioned in the passage, but they do not fully
capture the main idea of the passage.

Option B focuses solely on the role of the International Labour Organization, while option C only
discusses companies' efforts to avoid paying taxes and circumventing labor laws.

Option D emphasizes the need for labor laws to adapt to the new realities of global supply chains,
but it does not fully capture the main idea of the passage.

CORRECT ANSWER IS OPTION C.

Explanation:

Option A is incorrect as voluntary compliance may not always be followed, and this does not
necessarily strengthen the argument.

Option B is incorrect because although penalties may deter some countries from violating labor
standards, it does not address the "race to the bottom™ phenomenon or the issue of global labor
exploitation.

Option C strengthens the argument by providing evidence that respecting labor rights is not only
ethical but also beneficial for companies, potentially reducing the "race to the bottom" trend by
incentivizing companies to prioritize labor rights and fair working conditions.

Option D is partially correct because laws requiring living wages can help reduce the economic
pressures that drive the "race to the bottom™ trend and promote more equitable global labor
practices, thereby strengthening the argument.
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CORRECT ANSWER IS OPTIONA.

Explanation: Option A is a potential unintended consequence of labor laws becoming more
international in scope. If labor laws become too complicated, it could create more bureaucracy
and red tape, making it harder for businesses to operate efficiently. However, this option does not
contradict the conclusion that labor laws need to become more international in scope to address
the issue of the "race to the bottom".

Option B is incorrect because it contradicts the premise that countries around the world have
worked together to establish common standards for labor rights and protections, and the
International Labour Organization (ILO) has played a key role in promoting and enforcing these
standards. Therefore, it weakens the argument but does not provide a potential unintended
consequence of labor laws becoming more international in scope.

Option C is incorrect because it is already mentioned in the passage that companies have moved
their production to countries with lower labor standards and fewer regulations. This option
merely reiterates the same information without providing a potential unintended consequence of
labor laws becoming more international in scope.

Option D is incorrect because it contradicts the premise that labor laws have had to become more
sophisticated and adapt to the new realities of global supply chains. Therefore, it weakens the
argument but does not provide a potential unintended consequence of labor laws becoming more
international in scope.

Answer: C. 36
Explanation:
The ratio of boys to girls in the class is 3:2. So the number of boys is (3/(3+2)) * 60 = 36.

Answer: D. 24

Explanation:

Thenumber of boyswhoansweredincorrectlyis36 -((2/(2+3)) * 60) = 12. Asgiven,thenumber
of girlswhoanswered correctly is twicethisnumber, sothereare 12 * 2 = 24 girlswhoanswered
correctly.

Answer: B. 12

Explanation:

The total number of students who answered correctly is (2+3) parts of the total students. So, the
number of boys who answered correctly is (2/(2+3)) * 60 = 24. The number of boys who
answered incorrectly is total boys - boys who answered correctly = 36 - 24 = 12.

Answer: C. 0:1

Explanation:

The number of girls who answered incorrectly is the total number of girls - the number of girls
who answered correctly = (2/(3+2)) * 60 - 24 = 24 - 24 = 0. Hence, the ratio is 0 : 12 = 0:1.

Answer: C. 48

Explanation:

The number of students who answered correctly is the sum of the number of boys and girls who
answered correctly = 24 (boys) + 24 (girls) = 48.

Answer: D. 144

Explanation:

The ratio of boys to girls is 4:1. So, the number of boys in the hostel is 4/5 * 200 = 160.
160 — 10% = 144.



117. Answer: B.8
Explanation:
The number of girls in the hostel is 200 - 160 = 40. If 20% of girls are on leave, then the number
of girls on leave is 20% of 40 = 8.

118. Answer: A.176
Explanation:
The number of boys on leave is 10% of 160 = 16. So, the total number of students on leave is 16
(boys) + 8 (girls) = 24. Therefore, the number of students who are not on leave is 200 - 24 = 176.

119. Answer:D.9:2
Explanation:
The number of boys not on leave is 160 - 16 = 144, and the number of girls not on leave is 40 - 8
= 32. So, the ratio of boys to girls who are not on leave is 144:32 = 9:2.

120. Answer: B.136
Explanation:
If 5% more boys go on leave, then the number of boys on leave would be 16 (current on leave) +
5% of 160 = 16 + 8 = 24. So, the number of boys in the hostel would be 160 - 24 = 136.



